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PHYSICS | st s

For a gaseous system, if heat rejected by the system is 100
J and work done by the system is 20 J, then change in
internal energy is

(1)-1203J
(2)-80J
(3)801J
(4) 120

Three molecules of a gas have speeds 2 m/s, 4 m/s and 4
m/s respectively. The rms speed of the molecules is

(1) 2mis
(2) 2¢/3m/s
(3) 6 m/s
(4) 44/3 mis

Which of the following graph corresponds to isochoric
process?

P

—>T(K)

foreit 1Rt Framr & oy, afe Fem gRT fsaTfid s 100 J @
IR fiepr SR fobarr T BRI 20 J 8, T STRIRG Il A UG 8
(1) —120J

(2)-80J

(3)80J

(4) 120 J

foreht 9 & o STuett Y A1 wEeT: 2 mis, 4 mis 3R 4 m/s B
3TUL3TT & rms A1 &

1) 2mis

(2) 2¢/3mls

(3) 6 m/s

(4) 44/3mls

faN o~

Fefafd o 3 P g9 3mIdf~e Ush & T I 87

—>T(K)
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4. Column-lI comprises of different graphs for an ideal gas
and column-Il contains statements. Match the column-I with
column-Il [P is pressure and Vis volume]

Column-| Column-Ii
a. (o (p)  Volume is constant
.
1V
b P4 (@)  Temperature is
constant
—_—
L »
v
c. F n Pressure is constant
4
v
d. (s) Adiabatic process
T

(1) a(a); b(p); c(r); d(s)
(2) a(a); b(r); c(p); d(s)
(3) a(p); b(a); c(s); d(r)
(4) a(r); b(p); c(s); d(q)

5. Standard differential equation of linear SHM is (Symbols
have their usual meaning)

(1)—+—m—0

(2) ﬁ+wa:—0

(3) 2 +wlv=0

(@) G+ e =0

m

4.

DicAH-1 5 U ML I & folg Pre-fret 71 8 qer die-Il § ®e
g1 PIcTH-1 BT DicTH-1l F GHfId DI [P 3TE & 3R V 3R g

PieTH-I DieTH-ll

a. P4+ (P) e P e
/.
1V

b. P4 @ e gl
PR —
S
vV

c. Pl (N =zEfyag
WV

BEIST U

V
d. ‘ (s)
T

(1) a(q); b(p); c(r); d(s)

(2) a(@); b(r); c(p); d(s)

(3) a(p); b(a); c(s); d(r)

(4) a(r); b(p); c(s); d(q)

T TR ST R BT AFD Db THIDBRT & (Uchidl & 0
AT 31 §)

(3)5—0—0.1 v=0

(4)?+—$70
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Statement A: The ripples on the surface of water of fairly
short wavelength (not more than a few centimetre) are
capillary waves.

Statement B: Gravity waves have wavelengths typically
ranging from several metres to several hundred metres.
Statement C: The restoring force that produces capillary
waves is surface tension of water.

Consider the given statements and choose the correct
option.

(1) Only statements A and B are true
(2) Only statements A and C are true
(3) Only statements B and C are true

(4) All statements are true

Two wires of different densities but same area of cross
section are joined together at their one end and other ends
of wire are stretched to a tension T. If speed of transverse
wave in one wire is double that of other then ratio of
densities is

. 5 ) S2 ,
AT AT
@2:1
2)1:4
3)2:3
4)4:3

An ideal gas is taken through the process shown in the
figure. Choose the correct statement. (where P represents
pressure and V represents volume)

PJ\
C
B

A

>\

(1) In process AB, heatis rejected out of system
(2) In process AB, work done by system is positive
(3) In process AB, internal energy increases

In process BC internal energy increases and in process
AB internal energy decreases

4)

BT A: T B T8 TR B! 9 ey (B ASHIeR F 3ifdad
) dref! SHFDI DieDT A &Il &

DY B: ToAT a1 Y IS Bl W FHFIT: B3 AR I
REREER RIS CARIR]

BT C: SR T I B el AT e A Dl g8 T
B 8|

13 Tq e W fraR SIS ik Het fadved o1 o HIfSg|

(1) P P A 3R B HEl €
(2) P P A R C FEI &
(3) $ad P B 3R C FEI &
(4) T Do wET E

- el <IfthT T JIURY PIe 8Fhel dTel & dRi &l
b U R TR Uep 1T SITeT ST & il IRI & &R ORI 1 a1
T T fe ST 81 Ife Tep TR | SFgueeer TR b arel G R o

SFIRRT AT Y 2Tt Y JorT 5 QR 8, T $77cb BFcal bl YT &
- . o

AT AT
12:1
@) 1:4
(3)2:3
(4)4:3

U afee] 19 ol R 5 S21fT Y UehA | TR ST 81 HEl HA T
7 HIAT | (STET P e DY ST B 3R V I oY <21felm 8)

PJ'\
C
B

A

>V

(1) w557 AB H, e & SsAT Fsanifard et &
(2) 759 AB H, R RT bt T R T &
(3) U AB H, JT=aIRe il gget &

Y BC H, 3R Foll dadt & deil Wb AB H, 3R
B
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10.

11.

12.

13.

Amplitude of two waves are a1 and a» where a1 =as = a
and both are superimposed at P where path difference
between themis % The amplitude of resultant wave is

1) a

@) 3

() v2a

(4) V3a

The molar specific heat of ideal gas in isothermal process
is (Where R represents the universal gas constant)

(1) Zero
(2) Infinite
(3) 4R

(4) 8R

Statement (A): If temperature is increased by 1°C then
speed of sound in air increases by 0.61 m/s. (Take speed

of sound equal to 330 m s1at 0°C)
Statement (B): Speed of sound depends on amplitude of
wave.

(1) Statement A is true but B is false
(2) Statement A is false but B is true
(3) Both statements are false

(4) Both statements are true

Potential energy for a particle under SHM at mean position
of a particle is 5 J. If the mean kinetic energy is 8 J then its
total energy is

(1)5J

(2) 10 J
(3)21J
(4)50J

If fundamental frequency of closed organ pipe and open
organ pipe are same then the ratio of their length is

@3

10.

11.

12.

13.

S TN & AT aq iR ap €, Tela; =ap =a s AAIM PR
LRI Bl €, el g7 g gicr. 2 &1 T GROMHT T 1
I B

(D a

@) 3

©3) v2a

(4) V3a

AT U 7 eed 1 Y Ao IR ST Bkt § (S8 R
e i Frdie o qufdr &)

(1) TF

(2) &=d

(3) 4R

(4) 8R

HY (A): T TIHH BT 1°C IGRAT A1 &, A I F &af bl a1t
0.61 m/s d@ §@ W 21 (0°C W €af & 91T 330 m ™1 &

TR A7)
BT (B): &4 ] FTeT TR b AR R ¥R Bt 81

(1) DT A FE! & offh B TeTd &

(2) B A T & ffdh B T8 &

(3) ST P TeAd &

(4) 1 Do HET &

TR e T F yTa H et ot Y mrey T wR et st
5 J 81 af A1ed IR St 8 J &, N 39 oA Il &

(1)53
(2) 103
(3) 217
(4) 50 J
IS 98 3IF gy iR Yol oI urgy 6 got smaft ¥9H 8, a9

! TS T SFUT &

@i
@3
@) 2

4

[y 13X
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14.

15.

16.

17.

18.

A particle executes SHM with angular frequency w = 41
rad/s. If it is at its extreme position initially, then the time
period of oscillation of particle is

(1)15s
(2)05s
(3)4s

(4)23s

The temperature of a gas at which its mean square speed
becomes double to thatat 27°C is

(1) 527°C
(2) 327°C
(3) 427°C
(4) 127°C

The temperature (T) vs pressure (P) graph for an ideal gas
at two different volumes V1 and V5 is given below. Then

choose the correct option

T1 V;

s

(1 V2=V1
) Vo >Vq
(3) Vo <V
4) Vo<Vq

The rms velocity of molecules of given amount of gas at
27°C is 200 m/s. If temperature becomes 127°C, the rms
velocity will become

(1) 400+/3m/s
(2) 1004/2m/s

©) %m/s

(4) 50\@ mis

An ideal gas ('yz g) is adiabatically compressed from

volume 80 cm3 to 10 cmS. If the initial pressure is P then
the final pressure will be

(1)32P
(2)10P
(3)14P
(4) 16 P

14.

15.

16.

17.

18.

T HUT IV MR w = 41 rad/s & SHM fsa1fed oar 21 afe
HUT TR H 3701 TRA [T TR &, A Ul b ST T ATeiepTel &

1)15s

(2)05s

(3)4s

4)23s

9 & foFg A9 IR ST T AT AT 27°C W FHD! A H QAT
& Il 82

(1) 527°C

(2) 327°C

(3) 427°C

(4) 127°C

31 FrE-fre smrRIaHl vy 3R Vo R T aieet 1 & g are (7)
TAT S (P) & HEY T T it AT 717 &1 I T& fAved a1 o

T V,

(1) V2=V

(2) V2 > Vl

3) Vo <V1

(4)V2=V1

27°C W I 61 & 7T 9E1 B LRI BT rms I 200 m/s 1 AR
AT 127°C &1 ST &, Y rms ST &1 STTg

(1) 400/3 m/s

(2) 100v/2 m/s

@) % m/s

(4) 50@ m/s

e a1 i <7= g) #1180 cm3 ¥ 10 cm3 T dB SEH
wY & GRS fama ST 81 afe wRRYS <9 P 8, T9 3ifcm e 8rm

(1)32P
(2)10P
(3)14P
(4)16 P
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19.

20.

21.

22.

23.

If equation of standing wave is given by
y= 85in<307rt> cos (%x) where xand yareincmand tin s,
then distance between two successive nodes is

(1) 3cm

(2) 4cm

(3) Zero

(4) 8cm

The distance travelled by a longitudinal wave in solid in 2
s,is (Ys = 2.2 1011 N/m2, p = 8.8x103 kg/m3)

1) 10%m

(2) 10 m

(3) 100 m

(4) 10°m

If given wave is moving along (+x) direction then find out
which of the particle have downward velocity?
,l'.r-.

(1)C,I,D
(2)F.G,A
(3) B,E,H
(4)D

Choose the incorrect statement with regard to kinetic
theory of gases.

The intermolecular force of attraction between gas
molecules is negligible.

@)

The molecules are rigid, perfectly elastic spheres of
very small diameters.

@)

Molecules of a gas keep on moving randomly in all
possible direction with all possible velocities.

©)

No pressure is exerted by gas molecules on the walls
of container.

4)

In  superposition of two waves phase difference

corresponding to a path difference of % will be
(1) Zero

@ 3%

@)%

@) %

19.

20.

21.

22.

23.

I et STSRTRY TR b1 FreROT y:8sin(307rt) cos (gx) gRT
R g, FEfx iRy em H 2 ik ¢, s A B, 79 A ATy el &
SaArad

(1) 3cm

(2) 4cm

(ONS

(4) 8cm

Th e AT GRI SN A 2 s § qa 1 T g & (v = 2.2 x1011
N/m2, ,0:8.8><1O3 kg/m3)

1) 104 m

(2) 10m

(3) 100 m

(4)10°m

I < 18 TR (+x) e & srgfer AeFH B, 99 S DIfSIg o fhe

U7 BT T Ay Y IR 82
'l,l'r\.

(1) C,i,D
(2)F.G,A
(3) B,E,H
(4)D
Y & SUTRT R & Heer H Tetd HeF BT 9 BT
(1) 9 P 37T & e SRISTUG STHHUT I 0 81T B
(2) 319 g BIS T B 3, qoft: e el & £
i & et et g fRemat § Wit Tva it § aglees wU ¥
®) iy
9 & sl GRT U dY AR R DI I JRIT T8l v

ST &

21 TR b TR § %asqwaswwam

4

1) &F
) 3
Q37

@ %
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24.

25.

26.

27.

The graph between the mean free path and the square of
radius of molecules for a given number density of
molecules will be

(1) Linear

(2) Hyperbola

(3) Parabola

(4) Ellipse

Given below are two statements: one is labelled as
Assertion (A) and the other is labelled as Reason (R).
Assertion (A): For the given travelling wave along a string,
E}oint B has velocity along +y-axis at the given instant.

A

C
—> X
—>V

A B

Reason (R): Velocity of particle on a wave is along the
same direction as that of velocity of wave.

Both (A) and (R) are true and (R) is the correct
explanation of (A)

(€]
Both (A) and (R) are true but (R) is not the correct
(2) -

explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are false

The temperature of sink of Carnot engine is 27°C and
efficiency of engine is 60 %. Then temperature of source is

(1) 227°C
(2) 477°C
(3) 127°C
(@) 27°C

At a particular position the speed of a particle in SHM with
3

amplitude A is =-times that at its mean position. In this
position, the displacementis
A
(1) £5
A
(2) 5
(3) Zero

@) +4

24.

25.

26.

27.

3TULaTT & U U et e & forq ATed Hoh ULt a1 3! AT &
1 & 9 T I BT

1) &
(2) AR
(3) I
(4) <reiga
A &1 o Ry MU E: TP BT BT AT (A) TAT TR BUT P
PR (R) & w0 H Faf=ad far = g1
B (A): foreit SRt & argfeer < S T TR o eI, fow e o
R fdg B T T + y-3781 P I &1
Ya
C
= > X
A B —

PR (R): e TFT WR BT HT T AT & T Y T e &
SRIENE IR

(1) (A) 3R (R) S 8T 8 3R (R), (A) BT & TR &

(2) (A) 3R (R) <1 T &, A (R), (A) BT Tl e 781 &
(3) (A) |21 & aifdh (R) Tt &

(4) (A) 3R (R) 3 1T &

BT g9 & 8 BT 1T 27°C & TAT o7 T S&TdT 60 % &1 T
AdeIag e

(1) 227°C

(2) 477°C

(3) 127°C

(4) 27°C

forelt faiy oIy & oI A T TRt 3mad T & TR Teb hoT
el g T IR R oner | g T 81 39 fefer o faveermue §
@ +2

@) +4

Q@) LI

@) +2
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28. The equation

29.

30.

31.

of a standing wave is given by

e

y = 10cos (?> sin (1007t) (where x and y are in cm and t
in second). The wavelength of standing wave will be

(1) 5cm

(2) 75cm

(3)2.5cm

(4) 10 cm

A cylinder contains an ideal gas at 2x10° Pa and 47°C, the
cylinder is steadily heated. Neglecting any change in its
volume, find the temperature at which the cylinder will
break if the walls of cylinder can bear a maximum pressure

of 8x10° Pa.
(1) 1180 K
(2) 112K
(3) 1280 K
(4) Zero

The average translational kinetic energy of a gas molecule
is

Proportional to pressure of gas by keeping temperature
constant

@)

@) Inversely proportional to volume of gas by keeping
temperature constant

(3) Inversely proportional to absolute temperature of gas

(4) Proportional to absolute temperature of gas

For the given phasor diagram for particle P under SHM,
choose the correct equation of SHM

Ay

/6

(1) z = Asin (wt+%’)

(2) x = Asin (wt—&-%)

(3) x=Acos wt
(4) x=2Asin (wt + 1)

28.

29.

30.

31.

Te AT AT b FHIBRT Y y=10cos(’;—“) sin(1007t) GRT
oh 35T SITA & (ST8T x TT y, cm H & qoIT t Shvs 3 8) | STt
GRIEA RIS KUl

(1) 5cm

(2) 7.5cm

(3)2.5cm

(4) 10 cm

T 9 § 2x10° Pa 3R 47°C W TP A W &, e B
AR T fhaT ST 81 59 MRIaT # fohedt oft uRac &Y S
H §Y, g8 AU S DI, S R I8 ge S Al sHeb!
&R 8x10° Pa &1 3if8idbad aTd Te PR ebel |

(1) 1180 K

(2) 112 K

(3) 1280 K

(4) T

fomeft 3 o 10] Y 3TN TR TR St Bl &

(1) TTHT ST 120 G g9 I b S o FHTGHTH

(2) AT DI 0 I 8 1 o STRIA b SSHHIIINN

(3) I e TRH U b SSHHTIIN
(4) I < TRA JTHHT P FHTIIRI

TR 31Tae Ty & gTa § ) o p o AT U T thoie 3TN &

T, Rt 31Te fer & Tet THRRUT b7 TR hIfT
Ay

/6

(1) z = Asin (wt+%”)

(2) = = Asin (wt+ %)

(3) x=Acos wt
(4) x=2A sin (wt + )
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32.

33.

34.

35.

Choose the incorrect statement among the following (for
SHM)

) Phase difference between displacement and velocity
is £

2

) Phase difference between velocity and acceleration is
s
2

Phase difference between

accelerationis 1t

displacement and

3)
(4) Graph between displacement and velocity is parabolic.

The equation of an SHM is given as z =5sin (47rt+§) ,

where tis in seconds and x in metres. During a complete
cycle the average speed of the oscillator is

(1) zero

(2) 10 m/s
(3) 20 m/s
(4) 40 m/s

The ratio g—s =+ for an ideal gas is given, then its molar

specific heat capacity at constant pressure is
R

(8 Ry
YR

@) 3

R
©) -1

@) 2

Consider a thermodynamic process on a system as shown
in the figure. During the process, the work done by the
system

N

Prassure

> Volume

(1) Continuously increases

(2) Continuously decreases

(3) Firstincreases then decreases

(4) First decreases then increases

32.

33.

34.

35.

e wemT (SHM & ) & § Terd e &1 o HifSiy
(1) foReeTo 3IR 31 & S defioR L Bl 8

(2) 31 IR RV & drr befloR L BNl &

(3) e iR wRoT & T dHefieR R

(4) TIRRATOT IR T o &1 BT YT TRAT I 81

et TRl STTad Y BT iR m=5sin(4mt+§) ¥ ®Y §
T a8, ST ¢ e A & 3R x Hex ¥ Bl v gl ap & SRM
AfT T T &

1 xa
(2) 10 m/s

(3) 20 m/s
(4) 40 m/s

fepett arreet i & fory argare g—’;:yﬁmw%,aaﬁaaaraw
S AletR AT SeAT e &

L 75
g

R
®) 2(y=1)

(@)X

fom o 2ot 3FgaR e Mo W & SRS Ihd R @R
DAY 75pH P SR, v gRT fobam 1 i &

5

(1) PR g e
(2) PR geaT 2
(3) U 9gTT & R Tea &
(4) U B & O sgaT &

10
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36.

37.

38.

39.

40.

Two strings of same material of lengths L and 2L and radii
2r and r vibrate with fundamental frequencies 100 Hz and
150 Hz respectively. If both the strings are fixed at both the
ends, separately, then the ratio of their tension is

(1)1:9
(2)2:9
(3)3:9
4)4:9

A travelling wave passes a point of observation. At this
point the time interval between successive crests is 0.2 s
and separation between adjacent crests is 2 m, then

(1) Wavelength of wave is1 m

(2) Velocity of propagation is 20 m s~ +

(3) Wave frequency is 5 Hz
(4) Wave frequency is 10 Hz

In an adiabatic compression the product of pressure and
volume

(1) Decreases
(2) Increases
(3) Remains same

(4) Firstincreases then decreases

The time period of oscillation for the periodic motion given
by

. Y = sinwt + sin2wt + coswt

is

1 =

@3

®3) %

@) E

The Zeroth law of thermodynamics leads to concept of
(1) Energy

(2) Work done

(3) Pressure

(4) Temperature

36.

37.

38.

39.

40.

dars L 3R 2L Jer B 2r 3R r ael FE yere § A &
ST 4t TIFRIAT AT 100 Hz 3R 150 Hz | 60 el &1 IS
a1 ST & AT FRART R gere wU § gfed s S B, @ 39
TG T U &

(1)1:9

(2)2:9
(3)3:9
(4)4:9

SRTHT TR Siereh o Wep feig § ToTRell £1 397 faig WR 3hfirep 571 b 7y
FHY ICRIET 0.2 s & oI fFebeedl 47 b Hed g 2 m 8, 9

(1) T B T 1 m &

(2) TRUBTAT20 ms™+ &

(3) WIS PRI 5 Hz &

(4) T H YR 10 Hz &

Tl TgT™ Trdie H, 319 eI JMTITH &1 U
(1) I 8

(2) 9T &

(3) THM & &

(4) UECT 9T B, UL e 8

Y= sinwt + sin2wt + coswt FRT & TS e i P T St a1
CICREAC R

(1) =

@ 3

®3) %

() &

SETFIRIT & S PITC 71 I [P STaerRur i Il g2
(1) Sl

(2) feparm Rt Ry

(3) <M

(4) aH

11
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41. There is an ideal simple pendulum executing SHM with

42,

43.

44.

time period of 4 s in a stationary lift. If the lift starts

accelerating upwards with acceleration of 3 m/sz, then the

time period of the pendulum will be [Take g =10 m/sz]

10
(1)2 ES
(2) 2,/ s

13
(3)4 ES

(4) 4,/15 s

A carnot engine has same efficiency when operating
between 100 K and 500K and when operating between T
K and 900 K. The value of Tis

(1) 180 K
(2) 220K
(3) Zero

(4) 900 K

Two plane harmonic sound waves are expressed by
yi*x, t* = Asine %710071'15‘

y2(z, t) = Asin (0.48mz—96mt)
Number of times the listener hears maximum intensity (due
to superposition of these waves) in 1 second is

(1) 4
(2)5
3) 2
(4)6

An ideal gas goes from A to B via two process | and Il as
shown in pressure-volume (P-V) graph. If W1 and W> are
the work done by the gas in the process | and Il
respectively, then

=

(1) W1 >0and Wo <0
(2) W1 <0and Wy <0
(38)W1>0and W2 >0

(4) Wy <0and Wp >0

41.

42,

43.

44.

T R e & 4 s & 3MAdBIaT | TRl 31 il B d1elT Teh
aTee TRt MeTds &1 I fore 3 mis2 & @R F SR HT 3R Y

AT URT ST 2, T AP BT AP BT [g = 10 mis?

SN

(1) 24/4% s

(2) 2,/ 8 s

3)4 % s

(4) 44/15 s

TS U HFT 917 100 K 3R 500K T T K 3R 900 K & s
Tanfeld 81T 8, I9 ST S&rdT TH Bidt 81T HTHH &

(1) 180 K

(2) 220 K

(3) &

(4) 900 K

it eqfey aan ol
y1°x; te :Asin'%—loowt' aerr
yo(, t) = Asin (0.48mz—96mt) TR TH AT AT §1 ST 1
s 7 I dfadm (39 a1 & IR & HROT) BT fheT
IR g 82

(14

(2)5

@2
(4)6

ar T9de

T NEST I SE-3TRIGH (P-V) 3R # ST SR < UehH! | T
I § B A ¥ B T STl 81 afS Wy T Wa o991 T | e Il 5
N gR b T B B, 7

(1) W1 >0TdamWo <0
(2 W1 <0damWp <0
B)YW1>0daTWr >0

(4) W1 <0TamWo >0

12
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45.

46.

47.

48.

49.

Some heat is supplied to an ideal monoatomic gas under
constant pressure. The part of the heat which goes to
increase its internal energy will be

1) 2

45. R o % T ¥ T aTIeel UheTIRATUE 3 BT PV AT ST
STl B 1 3T ATARD Iootf DY TG H HRIT ST BT TR BRI

@32
@2
OF

@) 2

CHEMISTRY | R fast=

For an ideal solution, the correct option is

(1) AmixS =0, AmixV =0, AmjxH =0, AmixG>0
(2) AmixS >0, AmixV =0, AmjxH =0, AmixG <0
(3) BmixS <0, AmixV =0, AmixH =0, AmixG =0
(4) BmixS >0, AmixV =0, AmixH <0, AmixG <0

van't Hoff factor for AICl3 aqueous solution is 2.8.
Percentage dissociation of AICI3 is

(1) 60%

(2) 75%

(3) 80%

(4) 90%

Given below are two statements one is labelled as
Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Aquatic species are more comfortable in
cold water rather than in warm water.

Reason (R) : Solubility of gases increases with increase in
temperature.

In the light of the above statements, choose the correct
answer.

Both (A) and (R) are true and (R) is the correct
explanation of (A)

)

Both (A) and (R) are true but (R) is not the correct
explanation of (A)

2
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

How much charge is required to displace 5600 mL of O
gas at STP from water? (1 F = 96500 C)

@1)1F
2 2F
(3)05F
4)5F

46. e aned faerae & forg we fdwed &
(1) AmixS = 0, BmixV =0, AmixH = 0, AmixG > 0
(2) DmixS > 0, BmixV = 0, AmixH = 0, AmixG < 0
(3) BmixS <0, BmixV =0, AmixH =0, AmixG =0
(4) AmixS >0, AmixV =0, AmjxH <0, AmixG <0
47. AICI3 & Sieflg fetae & oy ame 8 ories 2.8 8, AlCIg &1
yfirerd forie &
(1) 60%
(2) 75%
(3) 80%
(4) 90%
48. iy a1 HUF U T €, TP B HAF (A) b wU A 3ifha fbar T &
3R TR BT BRI (R) & w4 H 3ifh fopam T 21
B (A): Ty wiefist ™ I & SO 3S o H Afd
RTIRID 34T PReH &
HROT (R): A9 5 gig & G191 bt gerefieran sedt 81
IRIE BT & e H, el IR BT 78+ BT

(1) (A) 3R (R) 31 T& 8 3iR (R) (A) T FET TR0 &
(2) (A) 3R (R) 31 H&l & oI (R) (A) BT Hel Tl el &
(3) (A) T8 2 afd (R) Taa &

(4) (A) 3R (R) SF 1ot &

49. S ¥ STP W 5600 mL Oy i faweenfid o= & faly faser armaer
3MaeTE 82 (1 F = 96500 C)

(1) 1F
(2)2F
(3)05F
(4)5F
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50.

51.

52.

53.

Which among the following ions has maximum limiting
molar conductivity at 298 K?

@ cr-
(2) Br-
(3) oH™

(4) CH3CO00O™

Consider the following two statements.

Statement (I): Galvanic cells that are designed to convert
the energy of combustion of fuels like hydrogen, methane,
etc directly into electrical energy are called fuel cells.
Statement (ll): A secondary cell after use can be
recharged by passing current through it in the opposite
direction.

In the light of above two statements, choose the correct
option.

(1) Both statement (I) and statement (lI) are correct
(2) Statement (1) is correct and statement (ll) is incorrect
(3) Statement (1) is incorrect and statement (Il) is correct

(4) Both statement (l) and statement (Il) are incorrect

If AG® value of fuel cell using C4H1g and Oy is -2.6 x 108
J, then E° value of cell is

(1) 2.05V

(2)1.04V

(3)1.85V

(4)2.68V

Given below are two statements:

Statement (I): Catalyst increases rate of reaction by
decreasing activation energy.

Statement (ll): Catalyst can catalyse both spontaneous
and non-spontaneous reaction.

In the light of the above statements, choose the most
appropriate answer from the options given below:

(1) Statement (1) is correct but Statement (ll) is incorrect
(2) statement (1) is incorrect but Statement (l1) is correct
(3) Both Statement (l) and Statement (ll) are correct

(4) Both Statement (I) and Statement (Il) are incorrect

50.

51.

52.

53.

fFfafed 5 ¥ 298 K W 59 smae 6 D= AR areTahd
Jfmdy gt &2

1) cr-

(2) Br-

(3) oH~

(4) CH3COO™

Ay < Huel R fER Hifs

DU (1) : TSI, HIF 2N SR ST Y <5 St ! e faga
ot § uRafid e & fog a7 10 oo et a1 61 el Hal
ST B

FHYA (Il) : ST & 99ad U f3cligd det o fmia fRem 7 arr
Jafed & g :3TTafId faaT ST Hehell 21

IR &1 HUAI b T H, Fel fIaped gl

(1) @ (1) 3R weM (Il) T Fet &

(2) U (1) T2 & 3R B (Il) TAT &

(3) T (I) T & 3R BT (1) FeT &

(4) DT (1) 3R D (1) &1 Terd &

afe C4H1 0 3R O TR $or St 7 AG® H+ = —2.6 x 100 3 %,
ql el T E°HH 8

(1) 2.05V

(2) 1.04 V

(3) 1.85V

(4) 2.68V

oA He RumE:

P (1) : SORD TlhAVT STt DI HH HRep INATHAT Y <R g1 B
DU (Il) : SRS TI:-Vafcd T FIa: 31-Hafcred < arfrferamait
BT SHRT PR Tl B

IR BT &b T H, A g 1Y Rpedl 7 I ¥ SR IR BT
JIT DI ;

(1) HU (1) FEI & AfPT P (II) T &
(2) U (1) T 8 TlfchT b2 (1) el 8
(3) T (1) 3R M (Il) ST Hel &

(4) B (1) 3R T (1) AT T &

14
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54.

55.

56.

57.

58.

When 75% of reactant A decompose in 10 sec according

k
to the zero order reaction A — 2B, then rate constant of
the reaction is (assume initial concentration of A as 0.1 M)

D 2x103mol L1571
(2) 75 x 103 mol L 171
(3)15x103molL-1s1

(4)3x10%mol L1571

A 1St order reaction has a rate constant 3 x 1075 s™1. Time
required for 60% completion of the reaction is nearly (log
25=04)

(1) 400 s
(2) 300's
(3) 200's
(4) 500 s

For 20% (w/w) NaOH solution density is 2 g/mL. The
molarity of the solution is

(1) 20 M
(2) 10M
(3)5M
@) 2Mm

A certain non-volatile electrolyte contains 40% carbon,
6.7% hydrogen, and 53.3% oxygen. An aqueous solution
containing 5% by mass of the solute boils at 100.15°C. The
molecular formula of the compound is: (Kp = 0.51°C/m)

(1) HCHO
(2) CH30H
(3) CoH50H

(4) CeH1206

Mechanism of a hypothetical reaction 2A3 —3A2 is given
below

(i) Az = A + A (fast)

(i) Az + A —2A) (slow)

The overall order of the reaction will be

@o
()3
@1
(4)2

54.

55.

56.

57.

58.

ST 75% IIRIERS A, T P FRFHATA > 2B P IR 10
JpUs | 3uEfed BT 8, d IRYfhar &1 o7 Fradies & (AT A Y
URFYS HFsar 0.1 M )

(1) 2x103 mol L7151
(2) 75 x 1073 mol L™1s71
() 15x103 molL 1571
4) 3x 104 mol L1571

T T DI AR a7 3 Fradids 3 x 1075 51 1 arfifp
BT 60% J0T B & T 31Maeged T & (log 2.5 = 0.4)

(1) 400's
(2) 300's

(3) 200's

(4) 500 s

20% (w/w) NaOH fdeta &1 89id 2 g/mL 81 I8 fdeta &t
BIGESIR

(1) 20M

(2) 10 M

(3)5M

(4)2Mm

U %2 sr-arsaefier fga-sraecs o 40% HTH, 6.7% TEge
ToI153.3% AT &1 S 61 3R | 5% fIord Ieh T wIei i

fdera 100.15°C W Ieerell &1 A &1 3A10dd I & © (Kp =
0.51°C/m)

(1) HCHO

(2) CH30H

(3) C2H50H

(4) CeH12086

T PHIcdah JAMITBAT 2A3 —3Ao B fepafafe Fiur & mft &
() Az = Az + A (Tt
(i) A3+ A —2A5 ()
arfrforar &t T dife 8rft
(10

(2)3

@)1

4)2
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59.

60.

61.

62.

Consider the following statements.

0] The solutions which show a large positive deviation
from Raoult's law form minimum boiling azeotrope.

(i) Two solutions having same osmotic pressure at a
given temperature are called isotonic solutions.

(iii) Ktis independent of solute concentration.

The correct statement(s) is/are
(1) (i) and (ii) only

(2) (ii) and (iii) only

(3) (i), (i) and (iii)

(4) (ii) only

A 5% (w/V) solution of cane sugar (molar mass 342) is
isotonic with 1% (w/V) of a solution of an unknown solute.
The molar mass of an unknown solute in g/mol is:

(1) 171.2
(2) 68.4
(3) 342
(4) 136.2

Which of the following pairs will form an ideal solution?
(1) Chloroform and acetone

(2) Ethanol and acetone

(3) n-Hexane and n-Heptane

(4) Phenol and Aniline

Choose the incorrect match.

Order of Reaction Unit of Rate constant (k)

(1) First order reaction s1

(2) Second order reaction mor~1 | s~1
(3) Third order reaction mol=2 L s71
(4) Zero order reaction  mojL~1g1
@@

2 ()

OXC)

(4) (4)

59.

60.

61.

62.

e wemi R R |

(i) 3 faeram I WSee & oM 9§ srafdisd g fomer Sorfd &,
T Fa FRREEeft a2

(ii) fopeft foU 7 919 TR G NIRRT S dlel & ferae ORI
o= wgera &

(iiii) K¢ A farorar it Higar o AR &l vt &1

SEEEEEH

(1) Fae (i) 3R (i)
(2) Hae (ii) 3R (iii)

(3) @), (ii) 3R (iii)
(4) Fa (i)
3¢ I (AR S 342) BT 5% (w/V) faeras T & e

F 1% (WV) AT & T THRRR &1 31T ol &1 Ao’
S (g/mol H) B :

(1) 171.2
(2) 68.4
(3) 342
(4) 136.2

AT & O P g sred ferae sHmgm?

(1) FARDH iR e

(2) ¥OTer 3R e

(3) N2 3R n-gA

(4) T 3R Ofvefi=

TeTdl et T T DT |
iffsrn Ht pife

(1) T BIfe arffhar g1

(2) i aife arfrforar

(3) T dIfS ATfpAT

OREEACIRIED]

D@

2 @)

OXC)
4) 4
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63.

64.

65.

66.

The freezing point depression constant for water is 1.86 °C
mL i 5g NapSO0y is dissolved in 45 g H2O, the freezing

point is changed by —3.82°C. The van't Hoff factor for
NapSOy is

(1) 2.63
(2)3.11
(3) 381
(4) 2.05
The standard reduction potentials of cu?*icu and

cu?t/icut are 0.337 V and 0.153 V respectively. The
standard electrode potential of Cu*/Cu half cell is

(1) 0.184V
(2) 0.827V
(3) 0.521V
(4) 0.490 V

The reaction taking place at anode when an aqueous
solution of CuSOy is electrolysed using inert Pt electrode

is

(1) 2S0; — S,0% +2¢
(2) Cu*" 4+ 2¢ — Cu

(3) 2H" +2¢” — H,

(4) 2H,0 — O, +4H* +4e

The standard redox potentials E° of the following half
reactions are

Half reactions E°(Volts)
MnOj +8H" + 5e 1.51

— Mn?" +4H,0

Sn*" 4 2¢~ — Sn** 0.15

Cr, 02 +14H" 4 6e 1.33
—2Cr*" +7H,0

Ce*t +e — Ce?F 1.61

The oxidizing power of the various species in decreasing
orderis

(1) Ce*" > Cr2 02 > Sn*" > MnO;
(2) Ce*" > MnO, > Cr 02 > Sn**
(3) Cr; 02 > Sn** > Ce*" > MnO,

(4) MnO, > Ce** > Sn*" > Cr, 0

63.

64.

65.

66.

ST & foly RHATp sra e fRRie 1.86 °C mL & IR 59
NapSOy4 ®1 45 g HoO H T ST &, al fadie uRafid gex —
3.82°C B JTAT &1 Nap S04 & oy aie & orids &

(1) 2.63

(2)3.11

(3) 3.81

(4) 2.05

cu?*/cu a3k cult/cu™ & TP argERM v wHA: 0.337 V
3iR 0.153 V &1 cut/Cu 31¢f Jet &1 A geragrs fava §

(1) 0.184 V

(2) 0.827 V

(3) 0.521 V

(4) 0.490 V

S CuSOy F Al fAeTa &7 31fehd Pt SdSIS BT SHINT PRb
fARIaTIEIe R ST 8, A UAS W 8 dteft 31frfohar &

(1) 2807 — S,0% +2e

(2) Cu*t + 2¢ — Cu

(3) 2H* +2¢ —H,

(4) 2H50 — Oy +4H* +4e”

Freafer e ared-arfrfranatt & A YSfaw g 0 €

a7g-arffehar E°(Volts)
MnO), + 8H' +5e" 151

— Mn?* +4H>0

Sn*" 4+ 2¢ — Sn?* 0.15

Cry O%’ +14H" + 6e” 1.33
—2Cr*" +7H,0

Ce't +e — Ce* 161

faftrer wfteftst it affarfie=or T @1 gedr A &
(1) Ce*" > Cr2 02 > Sn*" > MnO;
(2) Ce*" >MnO, > Cr; 0% > Sn*"
(3) Cr, 02 > Sn** > Ce'* > MnO,

(4) MnOj > Ce** > Sn*" > Cr, OF
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67.

68.

69.

70.

How long (approximately) should water be electrolyzed by
passing through 100 amperes current so that the oxygen
released can completely burn 12 g carbon? (Atomic weight
of C =12u)

(1) 6.4 hours
(2) 0.8 hour
(3) 3.2 hours
(4) 1.07 hours

Which of the following aqueous solutions has the highest
electrical conductivity?

(1) 0.1 M Acetic acid

(2) 0.1 M chloroacetic acid
(3) 0.1 M fluoro acetic acid
(4) 0.1 M difluoro acetic acid

Match batteries in list-1 with their electrolyte in List-2.

| | List-1 | | List-2 |
| (@ | Drycell | () | 38%aqH2S04 |
(b) Mercury cell (ii) Paste of NH4Cl
and ZnCly
(c) | (Hp—0p) Fuel cell (iii) | Paste of KOH
and ZnO
(d) Lead storage | (iv) | Conc. (aq)
battery NaOH

(1) (@) (i), (b) (i), (c)(0), (d)(iv)

(2) (&) (i), (b) (iD), (c)(0), (d) (V)
(3) (@)(iii), (b) (i), (¢) (iv), (d) (i)
(4) (&) (i), (b) (i), (¢ (iv), (d) (i)

Consider the following statements

(a) Molecularity of a reaction can be zero.

(b) Order of a reaction can be fractional.

(c) Molecularity is not defined for a complex reaction.
Choose the incorrect statement(s).

(1) (a) only

(2) (a) and (c) only
(3) (b) and (c) only
(4) (a), (b) and (c)

67.

68.

69.

70.

100 TR ORI Yalfed v el Bl fha! R (o) faega
argEfed faar SFT a1fey o™y g sifaie 12 g FTe ot guf
S&T PR Fh? (C BT IRAY IR = 12u)

(1) 6.4 &
(2) 0.8 €
(3)32%c
(4) 107 &

fFrfefed 3 § P9 Setg Reae o faeld arctedr waffde et

8?2

(1) 0.1 M U=Rfe 3reT

(2) 0.1 M FARNHI S 3t

(3) 0.1 M TRIRIHI e 3re
(4) 0.1 M SRTIRIRIGHICH 3re1

Td-1 7 & =it Sl o gd@t-2 7 R 1w S faga-seel &
121 gHferd SIS

-1 Td-2
| () | oI S | (i) | 38% aq HpSO4 |
(b) | 75 T (i) | NHg4CI 3R
ZnCly HT e
(©) | (Hp—02) e Fet (iii) | KOH 3R zZno@r
e

| (d) | T A St | (iv) | Hig. (aq) NaOH

(1) (@) (i), (b) (iii), (c)(i), (d)(iv)

(2) (a) (iii), (b) (ii), (c)(i), (d) (iv)

(3) (a)(iii), (b) (ii), (c) (iv), (d) (i)

(4) (a) (ii), (b) (iii), (c) (iv), (d) (i)
e wemi R R SISy

(a) o<t arfrfoman &t anfoderdr o & el &1

(b) o=t arfirfoman 6t e freee 2 Fac 2

(c) foreft Sifeer rfirfora o forg anfodesdr affia =2 &t Facht 21
TTeTd U ATl

(1) 3 (a)

(2) Hae (a) 3R (c)
(3) T (b) 3R (c)
@) (@), (b) 3R ()

18



Final Test Series(P1)-2024-25_ Test-04B

71.

72.

73.

74.

Which of the following equations represents the reaction
occurring during discharge in a nickel-cadmium battery?

Cd(s) + 2Ni(OH)3(s) —
a CdO(s) + 2Ni(OH) 2 (s)+ H0(1)

Cd(s) + NiOp(s) + 20H™ (aq) —

(2) Ni
i(s) + Cd(OH)2(s)
(3) Ni(s) + Cd(OH)2(s) —Cd(s) + Ni(OH)2(s)

Ni(OH)(s) + CA(OH)x(s) —
“) Ni(s) + Cd(s) + 2H,0(1)

The molar conductivity of a 1.5 M solution of an electrolyte

is found to be 138.9 S cm? mol™L. The conductivity of this
solution is:

(1) 1.325 scm™1
(2) 0.208 scm!
(3)0.325 scm™1!

(4) 2.085 scm~1

When NacCl solution is electrolysed using Pt electrodes
then pH of solution.

(1) Increase
(2) Decrease
(3) Remains same

(4) Firstly increase and then decreases

Half life period of a first order reaction is 10 minutes. The
time required for 10 g reactant to reduce to 1.25 g will be

(1) 20 min
(2) 30 min
(3) 40 min
(4) 5 min

71.

72.

73.

74.

fFrefafed 3 3 e THioxor Fba-heffg det 3 fARe= &
SR 8 areft 3rfrfeha oY garfar 82

Cd(s) + 2Ni(OH)3(s) —
a CdO(s) + 2Ni(OH)(s)+ Ho0O()

Cd(s) + NiO2p(s) + 20H (aq) —

(2) Ni
i(s) + Cd(OH)2(s)
(3) Ni(s) + Cd(OH)2(s) —Cd(s) + Ni(OH)2(s)

Ni(OH)(s) + CA(OH)x(s) —
“) Ni(s) + Cd(s) + 2H,0(1)

T fgd-arEesl % 1.5 M e @i Hleik Feiebar 138.9 S cm?
mol~1 arft it 5 ferat b wreTene & ;

(1) 1.325 scm™1!
(2) 0.208 scm!
(3)0.325 scm™L

(4) 2.085 scm™1

T4 Pt 3AITCIS BT SHANT & NaCl fierad &1 faga smere fan
ST & oY fetae &7 pH

(1) Sedi g

(2) EeaT 2

(3) ¥ BT B

(4) TEel 95T & 3R R BeaT &

ger Bife 1ffean @1 arafg @t 10 ffFe 81 10 g ifeRS 1
HEAR 1.25 g BF | fdhaHT I R

(1) 20 f&e
(2) 30 e
(3) 40 e
(4) 5 e
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75.

76.

77.

Given the following reaction:

P+Q-R+S

The time taken for 75% reaction of P is twice the time taken
for 50% reaction of P. The concentration of Q varies with
reaction time as shown in the figure, the overall order of
the reaction is:

[Q]q
(@

Time
1) 2
(23
(30
41

Choose the incorrect statement.
(1) Order of a reaction can be zero

Order is applicable only to an elementary reaction not
to a complex reaction

@)

?) If the rate constant of a reaction is 7.39 x 10_5 s_l then
itis a first order reaction

(4) Order of a reaction is an experimental quantity

Given below are two statements: one is labelled as
Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Ay, for weak electrolyte cannot be obtained
by extrapolation of An to zero concentration.
Reason (R): A, for weak electrolytes is obtained by using

Kohlrausch law of independent migration of ions.
In the light of above statements choose the correct option.

Both Assertion and Reason are correct and Reason is
the correct explanation of Assertion

@)

Both Assertion and Reason are correct but Reason is
not the correct explanation of Assertion

&)

(3) Assertion is correct but Reason is incorrect

(4) Both Assertion and Reason are incorrect

75.

76.

77.

fFefafed sirfhar SR &
P+Q L R+S
P &Y 75% 31ffehar § & a1etT 5, P Y 50% 31f¥fehar & e

aTel T T QAT 81 Q i Hisam rffhan §1 & wrer uRafca
it Y&t & St 35 o o gerfar man &, sififran H s e &

[Ql,

[Q]

12
(2)3
30
@1
7T H BT I DIl

(1) Tt arfrfepar &1 dife g & et &

Fifc daa URFYS e & v wgd et 8, Jfea
©) siianaran foro e

If forelt @rfifipar @1 97 f@Ri® 7.39 x 102 s~ 2 QY 77
) o i et &

(4) el s B IR e v <fdr Al

Her & B U T &: TP DI YA (A) & w9 A [T fvar mr B
3R R BT HRU (R) & w0 A (IR a1

B (A): el fIEITEST b fAT Ay, DY, Ay A LT ST b
e gRI UTH A8} b ST HepaT B

BRU (R): i1 fIegdemaey & iy A, @1 REl & FcH
SN & PIIRISH T & TN | UTH 5 STl 21

IR BT & Tl | Tl ey BT 9o S|

(1) YT AR HROT ST Fel & 3R BRI, H DI Tl AR 8

@3

o B 3R HRU QAT Tl & U= BRI, BT Y el RET el
g

(3) P Hel & TR DRV TeAd &

(4) D 3R DR ST TeTe &
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78.

79.

80.

81.

82.

A first order reaction is 50% completed in 30 minutes at
27°C and in 15 minutes at 37°C. The activation energy of
the reaction (in kd/mol) is

(1) 115
(2) 53.6
(3) 45.8
(4) 23.7

Consider the following statements
a. Inversion of cane sugar is pseudo first order reaction
b. For first order reaction, t1/»> is independent of initial

concentration of the reactant

c. Artificial radioactive decay of unstable nuclei follow zero
order kinetics

The correct statement (s) is/are

(1) (@) only

(2) (b) only

(3) (a) and (b) only
(4) (@), (b) and (c)

The ratio of volume of gases obtain at anode when aq.
NaCl and ag. NapSOy is electrolysed, connected in series

is respectively

11:1

(2)1:2

3)2:1

4)2:3

1 mol

Quantity of electricity reduce

nitrobenzene to aniline is
(1) 96500 C

(2) 193000 C

(3) 386000 C

(4) 579000 C

required to

The Ecg| of the following cell at 298 K is
Mgese|Mg*"+0.01 Me||Cu* 0.1 M+|Cusse

(B ca =034 V, E'ygr jag = —2.36 V & ZEEL 0 06)

(1) 1.23V
(2) 201V
(3)2.73V
(4)3.26 V

78.

79.

80.

81.

82.

27°C R T Y pife fIfRIT &1 50%, 30 fFe # e 37°C
W 15 e # got 81 81 a9 arfrfesar &t afthaor Serf (kd/mol #)
]

(1) 115

(2) 53.6

(3) 45.8

(4) 23.7

e wemT R foaR &

a. 3§ AT BT URITF Teh BT UM i 1frfemar aicht &

b. T/ BIfT IMfhaT & AT, t1/o IMHBRS 6T RS Aigar W
R e aear &

c. IreRft AR areTT Him et ey g BIfe Ferired! @t
ITeT R &

TEl B Bfe

(1) b (a)
(2) Had (b)
(3) Fad (a) 3R (b)

(4) (@), (b) 3R (c)

S S NaCl 3R STefld Nap SOy @1 faggdsmees Soft om &
FAOI e faam ST B, A TS WR 2T UTH 3N & STIe ol
Iua &

@1:
2)1:
3)2:
4)2:
1 A1 ARG ISt Dl T | aruafid v & folv araeas faggd
CaR:IEIN

(1) 96500 C

(2) 193000 C

(3) 386000 C

(4) 579000 C

298 K W =t fad e &7 Exyer &

Mgese

W = N

Mgt +0.01 Me||Cu®* 0.1 M+|Cusse

(Bt o =034 V, By gy = —2.36 V & 2L _ g 06)

(1) 1.23V
(2) 2.01V
(3)2.73V
(4)3.26 V
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83.

84.

85.

86.

The osmotic pressure of an aqueous solution containing
3.42 g of sucrose (C12H22011) in 250 ml solution at 27°C

is
(1) 0.98 atm
(2) 1.51 atm
(3) 2.05 atm
(4) 2.53 atm

0.1 molal aqueous solution of weak base (BOH) is 10%

ionised. If Ky for water is 0.52 K kg mol_l, the elevation in
boiling point of the solution is

(1) 0.08 K

(2) 0.057 K
(3) 0.047 K
(4) 0.104 K

Match List | with List Il.

List | Listll
. (Number of Faraday
(Conversion) -
required)
A. 1molofHpOto Oy . 3F
B - 2+ . 2F
- 1 mol of MnOy to Mn .
C. 1.5 mol of Ca from i 1F

molten CaCly

D. 1molofFeOto FepO3 V. 5F
Choose the correct answer from the options given below:
(1) A-ll, B-1V, C-I, D-llI
(2) A-lll, B-IV, C-1, D-lI
(3) A-ll, B-lll, C-I, D-IV
(4) A-lll, B-IV, C-II, D-I

2 moles and 3 moles of liquids, A *P$ =120tor= and B

(Pp =80torr) respectively are mixed to form an ideal
solution. The mole fraction of B in vapour phase will be

1) 2

83.

84.

85.

86.

27°C W 250 ml fdera & 3.42 g PN (C1oH22017) aTd
ST fIeTae T IR0 e &

(1) 0.98 atm
(2) 1.51 atm
(3) 2.05 atm
(4) 2.53 atm

gelet &R (BOH) @1 0.1 HieTel el ferae 10% 3 &1 afe

Tt % fIT Kpy = 0.52 K kg mol™ 1 &, & e a1 araeries Serat
arm

(1) 0.08 K
(2) 0.057 K
(3) 0.047 K
(4) 0.104 K
Tt | T gt 1l & a1 gAfad BT
@t
I
ﬁ%ﬂ_ @EEEs RS @
we)
A. 1molH20%¥ 0y . 3F
B. 1 mol MnO; ¥ Mn2* I 2F
c Ffetd CaCly § 1.5 mol il
Ca
D." 1 mol FeO ¥ Fep03 IV. 5F
A g U et § | Wé TR g

(1) A-ll, B-IV, C-1, Dl

(2) A-lll, B-IV, C-I, D-Il

(3) A-ll, B-lll, C-I, D-IV

(4) A-lll, B-IV, C-II, D-I

STA +P9=120tor TATB (P} =80 torr) P FHH: 2 HIeA 3R
3 AleT DI FeTTa Ue e fAeram ST SITaT 81 arsa giawen § B
T Al TS BRT

12
@1
@3) 1

4

ot
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87.

88.

89.

90.

If the molality of the dilute aqueous solution is tripled then
the value of molal elevation constant (Kp) will become

(1) 3times

(2) Remains unchanged
3) (%) times
(4) v/3times

Consider the following reaction:
N2(g) +3H2(9) — 2NH3(g)
If the rate of change in the concentration of Ho(g) is —24g

L1 S_l, what is the corresponding rate of change in the
concentration of NH3(g)?

(1) 136g L7151

() 51gL71s1

() esgL1s1

@) 163gL"1s1

When temperature of a reaction is raised from 17°C to
27°C, the rate of reaction becomes double, then energy of
activation of the reaction will be approximately

(1) 18 kecal mol™1
(2) 50 kI mol~1
(3) 42 kcal mol™1

(4) 38 kI mol™1

Given below are two statements
Statement I: Decomposition of NpOg and N2O are first

order reactions.

Statement II: The half life period of a first order reaction is
independent of initial concentration of the reacting species.
In the light of above statements, choose the most
appropriate answer from the option given below.

(1) Statement | is correct but statement Il is incorrect
(2) Statement lis incorrect but statement Il is correct
(3) Both statement | and statement Il are correct

(4) Both statement | and statement Il are incorrect

87.

88.

89.

90.

Ife a9 et faera & Aieterar dF AT & STt 8, ar Hietel
I FRRI® (Kyy) T A & SITQaT

(1) 3T

(2) 3mRafid &

@ (3) 7

(4) V3T

Frefefed srfrfehar &R foaR HIfSig

N2(g) +3H2(9) — 2NH3(9)

IR Ho(g) P |igar § uRade @ &= = —24g L2 571 & &
NH3(g) T Sisar § aRacH 6T Ed &= a7 82

(1) 136gL~1s1

) 51gL1s1

() esgL1s1

@) 163gL"1s1

9 fopadt 1f¥yfeham 1 a9 17°C | 27°C I 9T AT I &,
arfrfoRa &t &R QT 81 STl &, 7 Srfrfha Y |fchor Soff T
i

(1) 18 kcal mol~1

(2) 50 kI'mol~1

(3) 42'kcal mol™1

(4) 38 k mol~1

Fra < wem Ry v €

HUT | : NpOg 3R NpO & 39ee Tef Bife rfifera srclt 21
DU Il : T2 DI Affhar &1 sred-emydTer fopamra whiefsT &t
URFYe Figem W R 72 aear 21

Sugh Ul &b T H, i Ry 11 ey § | Ted Swgd IR
R

(1) AT | T8 8 oTfehT B Il Teid &

(2) BT | T & oTfeh B 1| 81 &

(3) BT | 3R B | 1 T E

(4) B | 3R B || &1 Terel &

BOTANY | = fasi=
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95.

96.

97.

98.

Match the following columns and select the correct option.

| [[columni | [[coumnn |

|Auxin ||Promotes bolting in rosette plants |

Gibberellin (il El:(():umrggeesr;emale flowers in

|Cytokinin ||Prevents fruit drop at early stage |
|Ethylene ||He|ps in lateral shoot growth |
(1) a(iii), b(iv), c(ii), d(i)
(2) a(iii), b(i), c(iv), d(ii)
(3) a(iv), b(i), c(ii), d(iii)
(4) a(iv), b(ii), c(i), d(iii)

How many of the following statements are correct?

a. Pruning helps in making the hedge dense by removing
the effect of apical dominance.

b. Auxins prevent leaf drop at early stages.

c. Auxins are widely applied in tea plantations.

d. 2, 4-D is widely used to kill monocotyledonous weeds.
e. Auxins controls xylem differentiation and helps in cell
division.

(1) Three

(2) Two

(3) Four

(4) Five

Choose the odd one out w.rt. the features of cells of
meristematic phase of growth.

(1) They are rich in protoplasm.
(2) They possess large conspicuous nuclei.
(3) Their cell walls are primary in nature.

(4) They undergo protoplasmic modifications.

Extracts of vascular tissue, yeast extract, coconut milk are
rich in

(1) Cytokinins

(2) Auxin

(3) Ethylene

(4) Gibberellin

95.

96.

97.

98.

71 i &1 FaH HIY iR T fhed o1 9o HifST
= .

TR @i)
R ||qi) | R rer gt o et e &

NS IESCIRGE ﬁ RS TATH Bed o IR Y Aeball &
B ﬁm@ﬁamqﬁﬁwaﬂm%

i Il

RIoTet UTeHl H SEpe B WicTfad dHdl &

(e]le ][z ][& ]

(1) a(iii), b(iv), c(ii), d(i)

(2) a(iii), b(i), c(iv), d(ii)

(3) a(iv), b(i), c(ii), d(iii)

(4) a(iv), b(ii), c(i), d(iii)

frferfad 3 & fem wew wd 82

a. BCTS P HRYT TSR] THIHRT BT HH1E T &1 T F 1S T a1
ST &l

b. 3fTfeRT, IR araeemail § uftial & R BY A &1

c. TR &7 <aTIS HU J AN IR IR H a1 7 21

d. 2, 4-D BT TP HY I ST THeSTI= GRITIR] BT T8 I
& forg fomam STTeT &1

e. 3fifaR, STger fave o FRif3a wxar & 3R BifdreT o =
TR IReTT &1

@) o

@
(3) IR
(4) UH

ghg hY TN Traee 6 difraai & e H fawe faeryar &t
T BIfY|

(1) 3T HICICATSH TR HHT H Bl &

(2) T TS GEIE s 81 &

(3) FT IfrepT FIFRT HTeIfie et b Bieit &
(4) FTH HICICATISHep HUTRY &1l &

&I &7

(1) HECIDIEF

(2) SRR

(3) uferef

(4) fSteaRfets
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99.

100.

101.

102.

The structure
gametophyte is

(1) Anther

in angiosperms that represents male

(2) Pollen grain
(3) Stamen

(4) Sporogenous tissue

Which of the following features is not associated with
tapetum cells?

(1) Nourishes the developing pollen grains

Form innermost wall layer of anther that helps in its
dehiscence

&)

(3) Possess dense cytoplasm

(4) Possess large amount of DNA

Read the following statements and select the correct
one(s).

a. Apomixis has been reported in some species of
Asteraceae and grasses

b. Apomixis is a form of sexual reproduction that mimics
asexual reproduction

c. In Citrus and mango, cell of nucellus may develop into
embryo sac.

d. Occurrence of more than one embryo in a fruitis referred
as polyembryony.

(1) aand d only
(2) b and d only
(3) Only a

(4) aand conly

Remains of nucellus is found in seeds of which of the
given plants?

(1) Wheat

(2) Black pepper
(3) Bean

(4) Pisum

99.

100.

101.

102.

TSIt § R FapIfe D R H aef! TaT &

(1) WRETHI

(2) WRTTHUT

(3) $P*R

(4) ST S

AT & & P e cdies eIfreTa & Hafgd T8l 82
(1) T8 uRaeIefieT TRETHUI BT UIyur el &

g AP BT Fa 3R <7 W 1 701 e & S
2 :
D TPHe H I Bl &

(3) S FEH PIfHTS Bl &
(4) T 9 HATH DNA BT 8

el P 1 ufeu 3R W Her/Hem! &1 9 HIfIT|
a. U¥CVH] oI O 1 S TSI A STRTST Tl 71T &

b. 3N, oifiies TN &1 Th U & ST 3Teifiis Tt bl

TR Bl &

c. Aoy qe 3 H, SISTieHR dt HIfeT (I Slax Yoo
& Haehl Bl

d. fo¥it et 5 U & Afeiep Uil T ST T IgYOTT el ST
2l

(1) Pac a 3R d

(2) %9 b 3R d

(3) PacT a

(@) PaT a 3R c

o1 o 9 foret urew o A1 o STTSHTT T AT URIT S 2
(1) &

(2) Preft et

(3) ¥

(4) FIeq
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103.

104.

105.

Development stages of a microspore are given below.
Arrange them in the sequence of development of mature
pollen grain

(1)A-C-B-D
(2)B-C-D-A
3)C-B-D-A
(49)C-D-B-A

Qutbreeding device which prevents autogamy but not
geitonogamy is

(1) Being monoecious as in castor
(2) Being dioecious as in papaya
(3) Selfincompatibility as in tobacco

(4) Bisexuality as in Hibiscus

Match the following activity/function with the phytohormone
involved.

Activity/Function Phytohormone
Herbicide 0] Abscisic acid
b.  Elongate fruits (i) 2,4-D
like apple
C. Stress hormone (i)  GA3
d Fruit ripening (iv) Ethylene

Select the correct option from following
(1) a-(iv), b-(ii), c-(i), d-(iii)
(2) a-(ii), b-(iii), c-(i), d-(iv)
(3) a-(iii), b-(ii), c-(iv), d-(i)
(4) a-(i), b-(iii), c-(ii), d-(iv)

103.

104.

105.

1o 7 eTgeiaTie & I 6 Jrawr & S 81 378 uRYTd WRFTH0T
& gRae & A | aferd HIY

(1)A-C~-B-D

(2)B-C-D-A

(3)C-B-D-A

4)C-D-B-A

DI IR IeTT feh T DI Ahcll & IR FTTTGSUI-URTTOT Hl
TEI?

(1) SHAfCITTERTT 8191 519 b 3Rt
(2) Yot msRit 8T Sy o el &

(3) Fa-3T e IR fob e o
(4) fetfiraar S 5 fefavarer o

Fefafed fhampaurery &1 = s8 afie 89 el iey-
HH J T

forarpeTaraRy UIeY-8F
a. gt ) offs srat
b wal ¥ ¥ @ () 24D
Seifepur
C. gEEEN (i) GA3z
d e g (iv)  ufSiefm
1 o & W8 fRieped o1 77 BT

(1) a~(iv), b-(ii), c-(i), d-(iii)
(2) a-(ii), b-(iii), c-(i), d-(iv)
(3) a-(iii), b-(ii), c-(iv), d-(i)
(@) a-(i), b-(ii), c-(ii), d-(iv)
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106. Swelling of the plant axis, and horizontal growth in dicot

107.

108.

109.

110.

seedlings is influenced by
(1) Ethylene

(2) Abscisic acid

(3) Auxin

(4) Cytokinin

The plant hormone that helps to overcome the apical
dominance

(1) Was first isolated from the human urine

Have specific effects on cytokinesis and were
discovered as kinetin

@)

Is synthesised in large amounts by tissue undergoing
senescence

©)

Is the transmittable influence that cause bending of the
coleoptiles of canary grass

4

The plant hormone that was discovered for its growth
inhibitory role and also cause dormancy, does not promote

(1) Destruction of chlorophyll
(2) Closure of stomata
(3) Plant metabolism

(4) Senescence

Select the odd one w.r.t. auxin
(1) 2,4-D

(2) 2,4,5-T

(3) NAA

(4) IBA

The term kinetin was given by
(1) E. Kurosawa

(2) Miller et al.

(3) H.H. Cousins

(4) FEW. Went

106.

107.

108.

109.

110.

ISR Faifsal o ey oter & e, e g AR gfg @
EENERERGIE

(1) UfSefi=

(2) UfedfEe arat

(3) SiferT

(4) EIgCIDRTS

offefeer TTIICT 1 SR R H HERIAT B Tl UIey 8
(1) T Ugel TG T § e fobaT 7T o

DIAPIEI-FAT R IR u9T S & iR sadh! @
@) Ry wrd HrS o

(3) SIRTIET H IO dTel e H TS AT H Heer i B &

SepAufi TTa STetd & fSd HRU FRY 81 & TigR-alet g8
@ e

S urey M & TNl gy sRIgd & H1-A1 UG HRD
“IftrepT o oI b1 < oft, I8 Micafed 78l ol &

(1) FARITNS o T B D

(2) i & 9 B DY

(3) UISY & JUITH BT

(4) S @

aiffere & Hef 7 s Rieped o1 9o HifSig
(1) 2,4-D

() 2,4,5-T

(3) NAA

(4) IBA

FreAfe aes fad gRT & ma em?

(1) 3. PR
(2) iR o I Teartt
(3) Td. Ta. dfo=

(4) TP, S, I
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111.

112.

113.

114.

Read the following Assertion (A) and Reason (R)
statements and select the correct option.

Assertion (A) : Growth, differentiation and development
are very closely related events in the life of a plant.
Reason (R) : Differentiation leads to the formation of
primary structures in plant

Both (A) and (R) are true and (R) is the correct
explanation of (A)

)

Both (A) and (R) are true but (R) is not the correct
explanation of (A)

2
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

Which of the following statements is true w.r.t Auxin?
(1) They can be applied for plant propagation

Only synthetic auxins have been used extensively in
agricultural practices

&)

At normal level auxins promote abscission layer
(3) formation between the organs like young leaves, fruits
and flowers.

(4) They are responsible for inhibition of cell division

The hormone that could fit in either of the groups, but is
largely an inhibitor of growth activities is

(1) Also called stress hormone
(2) A gaseous PGR
(3) Specific to cytokinesis

(4) Derivative of terpenes

Internode elongation just prior to flowering in beet is
promoted by application of

(1) Auxin

(2) Gibberellins
(3) Cytokinin
(4) ABA

111.

112.

113.

114.

e B (A) T SR (R) ®F 9fey 3R GE fadey a1
R HITI

B (A) : 3fE, e dor aRae faeht urew & Sfgw o eria
e U 3 Hefgd B1d &1

PR (R) : U 5 AN & HROT Afiies G131 BT o7 8rar
2l

(1) (A) TAT (R) SF1 T8l & 3iR (R), (A) BT Fal TR &
(2) (A) T (R) 3T T E 0 (R), (A) P Tt Toefiepwor 721 &
(3) (A) FA B WY (R) 375 &
(4) (A) 3R (R) 31 39T &
FrIfeifRad = & i B SiffaRT b e § T 22
(1) 3771 TN UTeY Tgeie & fotg 5 ST wava &
Y-l ugfer # dact HHA TR BT uD HY F ST
@) et
T ¥R O 3T, ST SR 07 quf, Tat] 2T gsal o &t
©®) gt s Ffor 9 e e 8

(4) 3 DIRABT 9T o SFRIE & foly ITRERM 81t &

giey g Sy a1 | ¥ et off T g & SR AT ST HadT &,
URg eI Ifg FRTeatTdl &1 STeR1ee B &, I8

(1) T g™ ot PEeTar &

(2) W& i PGR &

(3) PIRrpTeEg-favTer & fory fafere el &
(4) T 1 g &

o eT STIHANT &k Geber H Yoo F Sleh Ugel SRTUd & STeffanor
&1 AicTfed o ST 82

(1) SATfeRFT
(2) fSreRfeT
(3) HIECIIE

(4) ABA
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115. Select the mismatched pair
Precursor PGR

(1) Adenine -

(2)  Tryptophan -

Cytokinin
Indole-3-acetic acid
Abscisic acid
Gibberellic acid

(3)  Terpenes -
(4)  Acetyl-CoA -
1@
2)
©NE))
4) 4

116. Mark the odd one w.r.t false fruit
(1) Apple
(2) Mango
(3) Strawberry
(4) Cashewnut

117. In stamen, the proximal end of the filament is attached to
the

(1) Anther
(2) Connective
(3) Placenta

(4) Thalamus or petal

118. In members of some families, pollen grains retain their
viability for months after release. These members belong
to

(1) Rosaceae, Leguminoseae and Solanaceae
(2) Rosaceae, Leguminoseae and Poaceae
(3) Poaceae, Leguminoseae and Solanaceae

(4) Rosaceae, Malvaceae and Poaceae

115. AT T o1 T HIfSY

gart PGR

1) = - gEceEqET

@) R - 3eId-3-THfesd arat
B edm - ufelfGe v
(4)  whifedr-coA - SR s
1@

2 (2

33

4) 4

116. oyt ther 3w 7 faww faerey o1 fufa HifS
(1) ¥§
(2) 3™
(3) T
(4) P,
117. qopeR H, Teg T fepcwel faRT e el 2ielT 82

(4) IS AT St

118. o pall & TR H, WISV fIHH & 91 TelA1 I T Shie-
&I §ITC T &1 A Heey fohetah Siria ot 872

(1) T, TG AR eI Hietw =it
(2) AR, TG oIt gt
(3) g, SRR e Hrett
(4) T, AT I aree
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119.

120.

121.

122.

During microsporogenesis

Four microspore tetrads are formed by meiosis in one
microspore mother cell

)

Pollen grains are developed by mitosis in sporogenous
tissue

@

A microspore mother cell undergoes meiosis to form
four microspores

©)

(4) Each microspore tetrad develops into a pollen grain

In the most common type of endosperm development in
flowering plants

(1) Cell wall formation is completely absent

PEN undergoes successive nuclear divisions to give
rise to free nuclei

@

Each division of PEN is immediately followed by wall
formation

©)

(4) Free nuclear division is absent

Flowers pollinated by insects show all the given features
except

(1) Majority of the flowers are large-sized
(2) Presence of nectar producing glands
(3) Stigma are large and often feathery

(4) Pollen grain are generally sticky in nature

Majority of flowering plants

(a) Produce unisexual flowers to prevent autogamy.

(b) Use arange of animals as pollinating agents.

(c) Produce four megaspore but only one of the
megaspores remains functional.

(d) Shed their pollen grains at 3-celled stage.

Select the correct answer for the above statements.

(1) Only (a) and (c) are correct
(2) Only (a), (b) and (d) are correct
(3) Only (b) and (d) are correct
(4) Only (b) and (c) are correct

119. FgiSIIST & SRH

Ueh STgEISITY] 1 DIRTET H NSGH-AITT GRT IR TgdeI]
@) ISP T 0T BT &

o AT i H FG- T R WRFTHUI T aRae= grar
g

T AYASTY A PIRMDT H HERGN-fure 89 F AR

) oyt 1 frfor v &

(4) TS TGSV Tp UfRafei ElepR TRRTERUT Il &
120. gudt gredi § F AT TBR S YUY URae §
(1) DiferepT Py for quf w0 § srgufeer giar g
(2) PEN  frgehfiep s favTort &1 3 5eh dhaeb Iouel &l &
(3) PEN o Ye T & GRel ae i< ot o gl &

(4) T e fAHTSIT STIUTEI &Il &

121. fHich gR1T WIFT 89 el g7 379 9 fras iR org wft
faorvan carfa &2

(1) SAEDT GoT FS-ATHR & BT &

(2) ARG ST T ATt TfAT Jufer Bl &
(3) i ss T Ir: fUes 81 §

(4) IRFTRUT HHTI: FRafy Tpfl & 81 &

122. giferepier guft orew
(a) TG e o fol Upferl godt Seust e €1
(b) TRFTOT RS & wY H fafder Sigatt &1 ST e 5
(c) TR THAIY S PRl & WY T | Dl T eIy
HTIfED 97 X&T Bl
(d) 37U TRFIHUT 3-DIAHIT STaver H HISd &
IWRIth HAT & AT GE ST BT T Hifv|

(1) % () 3R (c) & &
(2) 3 (a), (b) 3R (d) W &
(3) A (b) 31K (d) T &
(4) B (b) 3R () FE &
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123.

124.

125.

126.

127.

In a typical growth curve of plants, growth reaches to its
maximum during

(1) Lag phase

(2) stationary phase

(3) Log phase

(4) Initial phase of growth

Thinning in cherry and walnut is hastened by
(1) ABA

(2) GA3

(3) Cytokinin

(4) Ethylene

Phytohormone able to increase stalk length in grapes and
inducing early maturity in juvenile conifers

(1) Shows polarised movement

Can induce stem elongation in rosette plants just
before flowering

@

Can be used to increase shelf life of cut shoots,
vegetables and flowers

©)

(4) Increases the number of female flowers in cucumber

Which of the following is not true w.rt

organisms?

growth in

(1) Itis fundamental and conspicuous
(2) Itinvolves expense of energy
(3) Itis permanentincrease in size

(4) Itis accompanied by anabolic processes only

Plasticity in plant growth means that
(1) Plantroots are extensible
(2) Stems can extend

Ability of plants to produce different structure in
response to environment

®3)

(4) Leaves are always of the same type in plants

123.

124.

125.

126.

127.

UIeul & TefUe gfg ash | sifdiewad gig ai &
(1) 17 HTERR & &RF
(2) Tt TeReen & SRM

(3) AT HTEeN & SR

(4) 3G H1 IRFTP Trawer & SRH
R 3R ITRIC B AP HRUT AR &6 ufehar oft I 8t 82

(1) ABA
(2) GA3

(3) WIECIDTEF
(4) TRIeI

3R H gl ! TS T T fhelR AGeRY gafl 7 et gRRueradm
@1 R BR § Fard UIey-gH

(1) gfea iy safar g

Joret et § gsiE ¥ S Ugel o & SER0r df IR o
ehell &

BT SYAN e EU HRIE, Feof! T Hed| ! (T g T &
[SERIIEENIE

(4) TR 7 w7eT goai T HEAT 98T &
et d gfg & def o fFrafafad 5 o a1 a8 78 22

@)

@)

(1) T8 Jer e 3fR T U I Bt &

(2) T Tl T T BT &

(3) SN AMMHR 7 Tt gfeg et &

(4) TB Dact IHRIT TfchaTaii & AT Bl &
UIey gfg H gacwd &1 37 & {6

(1) TR T Hef Rl &

(2) T TR &1 Hehal &

U1y H GATaROT & SR H STAT-3TTT TRAHTG Sedel e bl
& 8

(4) T X 907 HG FH TBR P BRI &

©)
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128.

129.

130.

131.

Find out the correct statement w.r.t. ex-albuminous seeds

Their endosperm is completely consumed during
embryonic development

)

(2) Such seeds are found in bean, castor and groundnut

Such seeds occur in majority of monocots and some
dicots like castor and sunflower

©)

(4) Such seeds occur in all types of plant groups

Emasculation is

a. Removal of stigma before maturation

b. Removal of anthers before dehiscence of anthers
c. A step of artificial hybridisation

(1) Only ais correct
(2) Both b and c are correct
(3) Both a and c are correct

(4) All a, b and c are correct

Read the following statements and choose the correct
option.

Assertion (A): Gynoecium of Papaver is said to bhe
multicarpellary syncarpous.

Reason (R): In Papaver, gynoecium has many carpels
which are fused together.

Both (A) and (R) are true and (R) is the correct
explanation of (A)

Both (A) and (R) are true but (R) is not the correct
explanation of (A)

@)

@)

(3) Only (A) is true statement
(4) Both (A) and (R) are false statements

What is the fate of the two male gametes discharged into
the cytoplasm of synergid?

One of them fuses with the egg cell and the other one
with the synergid cell

@)

Both the gametes get fused with the egg to make
triploid endosperm nucleus

@)

One fuses with the egg and other degenerate in the

©) synergid

One fuses with the egg and other fuses with central cell
nuclei

4)

128.

129.

130.

131.

Teegfir-<fe it 3 Hen # Hét e g HIT
(1) 37T YOI, YUt UREe & SR qu7 U & IPH & I &
(2) O &It B, RS T Foheft F uTg W &
W i arfgerier Trdioraal @ik o fadioufal S RS
3 o It A urg I §
(4) T 9 Tt HpR % Uy 8! A 91g AT §
fager
a. URuFaar ¥ Uget afh &l &CHT &

b. TRFTHILI o TFGe | Uget IRRTHIN Pl EHT &
C. P PR BT Ueh TR &

(1) P a TE B

(2) baiRca @@ g
(3) adiRcaHiwd g
(4) Tl a, b 3R c Tl &

Frfafgd st o ufeu iR T8t fdwe &1 = S|

B (A): Yygv & STRITT BT g3l Jehied! JHT ST 21

PR (R): Jogv H, STRINT A &3 31ST 81 & ol 310 H Tfeld 8t
gl

(1) (A) T (R) a9 T & iR (R), (A) 1 Hel Toefienur &

(2) (A) TT (R) SF1 T & TR (R), (A) BT FE! FIEIH0T T8 &

(

(3) FIA (A) T B &
(4) (A) 3R (R) ST 3RIT B &

TERT DD F DB § Ieh & AR goIeh! dI T a1 et
22

T I U D, IS PIRADT S F1 HTfeld 81T & 3R GHRT
(1)W,ﬂmaﬁf§ﬁm%war@ﬁaaﬁ%

S goIas, 3T & 1 TIferd ) AT Yurdy e &t
@) a8

TP gD, 3 b A Hfeld eIl & AR IRT ISP, FEH
(S)ﬁﬁ‘cﬁrﬁm@ﬁa‘aﬁm%

T P, S & 1 eI Bl & 3R T JHD, o
)wlﬁmlé?cbwaiww-i*l@d oIk
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132. Transfer of pollen grain from anther to the stigma of 132. WrHIY ¥ G99 Ud & SN gsq & TP dh WEHU b
another flower of the same plantis called i B
FTIRUT 1 el STl &
(1) Xenogamy
(2) Cleistogamy (1) R
(3) Geitonogamy ) WW
(4) Autogamy
(3) HTTIYSdT qRFTOT
(4) ¥ag™
133. Embryo sac in angiosperms represents 133. ;mgagnﬁzﬁﬁ YUY T Hear &
(1) Megaspore
(1) Todomg bt
(2) Female gametophyte
(3) Mega gamete (2) AT GG BT
(4) Megasporophyll 3) Wwﬁ
(4) Tt ot
134. In adventive embryony, embryos develops directly from 134. Wﬂﬁmwﬁ,gy;ﬁamﬁﬁmﬁamg?
the
) Diploid sporophytic cells such as nucellus or (1) fefore Sooy-Sfsc eiferenr i o distieenra a1 ez &
integuments. NN o ~ ~
. diSTearlt ST 6 THAY A1g PR 4, o @
@) Megaspore mother cell of nucellar cell which has a 2) ) )
diploid egg or oosphere. SO 378 T 3T gary
(3) Synergids or antipodals in an embryo sac 3) W-aﬁqiﬁﬂgﬂaﬁ@lﬁmmaﬁ@lﬁﬁ
(4) Zygote and the PEC.
(4) FFS TATPEC &
135. Chasmogamy refers to the condition in which 135. Sewlor-grpr O fRifey apt el ewar & foes
(1) Pollinators are not required .
(1) TRTIOTSHT T TR el it &
(2) Anther are always absent
(3) Flowers remain open (2) WRFTPHI FT SFFUAT BT &
Self pollination occur in the bud stage before opening :
@) of flowers. (3) 9™ Yot W&l §
(4) T & G A Ugel dicidl JHeaeel H F-URFI0T BT 8
ZOOLOGY | Sig fast™

136.

The first step in urine formation within kidneys of a human
is

(1) Synthesis of urea
(2) Glomerular filtration
(3) Selective reabsorption

(4) Tubular secretion

136. w777q & garep! H 7 0T T UBAT TR B

(1) TR BT HeeTIor

(2) TeBR Feie

(3) TITHS GARTGLTSOT
(4) TTfAPTHR Tau
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137.

138.

139.

140.

How many of the following animal groups present in the
box excrete ammonia as major nitrogenous waste?

Bony fishes, Mammals, Reptiles, Aquatic amphibians,
Terrestrial amphibians, Aquatic insects, Marine fishes,
Birds

Choose the correct option.
(1) Two

(2) Seven

(3) Three

(4) Five

Which one of the following options is incorrect with
respect to Henle's loop of a nephron?

(1) Descending limb is almostimpermeable to electrolytes.
(2) Reabsorption is minimum in ascending limb
(3) Ascending limb is permeable to water

(4) Descending limb concentrates the filtrate

Which of the following statements is incorrect w.r.t. human
excretory system?

1) Each kidney has nearly 1 million complex tubular
structures called nephrons.

Blood filtered by kidneys per minute is about 16t of

(2) the blood pumped out by each ventricle of heart in a

minute.

(3) In cortical nephrons, the loop of Henle is too short.

A minute vessel that runs parallel to the Henle's loop is
called vasa recta.

)

Assertion (A): The stretch receptors on the walls of urinary
bladder send signals to the CNS.

Reason (R): During micturition, external urethral sphincter
contracts and muscle of the bladder relaxes.

In the light of above statements, select the correct option.

Both Assertion and Reason are true and Reason is the
correct explanation of the assertion

@)

Both Assertion and Reason are true but Reason is not
the correct explanation of the assertion

@)

(3) Assertion is true statement but Reason is false

(4) Assertion and Reason are false statements

137.

138.

139.

140.

dfad A Ry v fy=fafea § 9 fhan uoft W g I gt
3TUTE & Y H I BT I D 87

AT Heved |, FFTGRY, IRIGY, STef 1 SHIR, Ffet 17 IHIR,
STl ie, Fauiia STet ol Feferdl, geflt

TEI fehe 1 T DT
@

(2) \Id

(3)

(4) W

THA B el U P T N AT § § B A1 ey Terd 22
(1) STERIET ST I STUEeH & oY T IYRT= BNl &

(2) TRYEY SISTT H F7: SRS =g BIel &

(3) STRIE! M[STT 9T & fely YR BIelt &

(4) STERIET YSIT PR, a1 ifeid el &

ATa Iegoit o & e & Arfafea 3 Q ol 91 B2 Toid 82

T gad o o 1 e Sfee AfetameR e Bt €,
W) e it g o 3
] a1 it e =i famar ST areTt 36 & & udd

(2) FieTa aR1 Ue fiieTe # U f&hU U Ik & ST 1/66 TR & SRR
BT &

(3) IPIT B H, &Tc] U 95 BICT 81T &

Bl & U P TR T dTell e aTfeehT Bl I NareT dHal
ST &l

DU (A): T FHY AT R ufed T M CNS Bl v
Tt B

PR (R): TAUT F SRM, I AR RIfg Ggpfod o S &
3iiR anery Y uferi fRrferet & Sireh £

IR BT & T H, T8 ey 1 9 HHFT)

4

(1) HUF HR HROT FET & 3R BRUT, HeF 6T Tt AR &

(2) P 3R PR HeEI & eIfchT DR, P P Hel AR T8l &
(3) P TEI & TIfebT HRYT Tl &

(4) D IR DR T BT &
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141.

142.

143.

144.

A fall in GFR can activate the JG cells to release

which can stimulate the glomerular blood flow and thereby
bring the GFR back to normal. Choose the option which
fills the blank correctly.

(1) Renin

(2) Angiotensin-Ii
(3) Rennin

(4) Erythropoietin

Correct order of increasing toxicity among nitrogenous
wastes ammonia, urea and uric acid is

(1) Uric acid < urea <ammonia
(2) Uric acid < ammonia < urea
(3) Ammonia < urea < uric acid

(4) Urea < uric acid < ammonia

The receptors of neurotransmitters are present on/in the
(1) Pre—synaptic membrane

(2) Synaptic cleft

(3) Post—synaptic membrane

(4) Axon

Read the following statements and choose the correct
option.

Statement A : Dendrites conduct nerve impulses towards
the cell body or cyton.

Statement B : From cyton, the axon conducts the nerve
impulse towards the nerve endings.

(1) Statement A is correct but B is incorrect
(2) Statement B is correct but A is incorrect
(3) Both statements A and B are correct

(4) Both statements A and B are incorrect

141.

142.

143.

144,

GFR # fiR1ae JG PIfdraraif ot Aiferd B & forv afeha
Rl & S T8 h TaTE B URA St & 3R 39 o GFR a0«
g fRAf 7 & SATeht 21

T8 fidheq g it Reh I ot 8t & | 9= B

(1) X

(2) TRREERAA-II
(3) X

(4) SRR

TASCIST! 3TfTe ST, IRAT SR YRep et D fsreharr A gie
EISEECES

(1) IR 37eT < JRAT < ST

(2) IfReD 37t < TR < R

(3) ST < IRAT < IS 3F7eT

(4) ZRa < gRep 3t < S

dRpTeERE b ATfeaT e w/A SufeRrd et €2

(1) F-RAfes faref

(2) Fifed =R

(3) UeT-fAfes freht

(4) dierer

el Pl 1 ufey der Hel e &1 9o Bifa|

DU A : GIEH, TRDT AT B DIADBT BRI AT FZEH Bl 3R
FeTfeld & &

H B : (RHTE, FECH A T & [RI 6T 3R dfeT T o
FAfeId P 81

(1) T A FEl & oIfdh B Tl &

(2) F B Wl & oIfdh A Teld &

(3) BT A 3R B a1 w8 &

(4) B A 3R B aFI TeTd &

36



Final Test Series(P1)-2024-25_ Test-04B

145.

146.

147.

148.

How many ATP molecule(s) are utilised during active

transport of 2K™ ions from ECF to axoplasm and of 3Na*
ions from axoplasm into ECF by specific transmembrane
protein to restore resting potential of a neuronal
membrane?

(1) One
(2) Two
(3) Three
(4) Four

Read the following statements and choose the option that
represents only the correct statements w.rt the nervous
system of humans.

(a) Brain is in direct contact with the bony skull.

(b) Pia mater is that cranial meninx which is in contact with
brain tissue.

(c) Arachnoid mater is present between dura mater and pia
mater.

(d) Dura mater is the innermost cranial meninx whereas
pia mater is the outer one.

(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (d)

Which one of the following options is incorrect with
respect to neurons found in humans?

Cell body contains cytoplasm, typical cell organelles
and Nissl's granules

@)

(2) Dendrites are short fibres projecting out of the cell body

Nissl’'s granules are granular structures found in
axoplasm of the axon

©)

(4) Synaptic vesicles are filled with neurotransmitters

Each A has many parallely arranged B
Choose the option which fills the blanks A and B correctly.

(1) A-Myofibril, B-Neurofibrils

(2) A-Myofibril, B-Muscle fibres
(3) A-Muscle fibre, B-Neurofibrils
(4) A-Muscle fibre, B-Myofibrils

145.

146.

147.

148.

Ug =R foiel & R g @1 g7:6u8 @ & foly fafre
ST WA gRT ECF ¥ Udtersd § 2KT Al 3fik
T & ECF 5 3Na™ 31l & Sfsha uass & SR fhem
ATP 37] (317) T SHART faaT STl 82

(1) %

@)

(3) diF

(4) IR

AT wemt @1 ufey iRk AMa & dfeT 77 & e § dad
& BT D1 USRI A arel fIdmey &1 9= HIfTY |

(a) ARETSH, AT HRIS &b A1 YI& TIP H BT & |

(b) IRIT HeR I8 HUTA T AT & ST 7RSS & Hhed & GUD H
BT |

(C) W3S Hex , ST Hex 3R urm Hex & e Suferd 8T 21

(d) ST Hex e SRS BuTeld e & STafds grT Hex arar
FUTA T AT B |

(1) (2) 3R (b)
(2) (b) 3R ()
(3) (c) 3R (d)
(4) (@) 3R (d)

HHE H IR ST aTel =RM &b we § el d § F 9 1 e
TeTe 872

PIIAPT BRI H IADT G, U PIRIBHT IR et Imget

W gy ¢

(2) g1, BIIeT T Y Hafdd BiC g 8k &

T 37l g & dRepTel S § Y ST drett o
(4) e gieen =RIgEHeR 3 w3 8l 8

A% A ¥ TR ©Y Y Faferd b B ®@dgl
Rk T A 31R B & T8 99 I WA drel fddhed a1 = HifST|

(1) A-uefiige , B-dfeT ag®
(2) A-ueficge , B-Usf g

(3) A- Uefig, B- dfeT dge
(4) A-beft g, B - Yefidga

©)
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149.

150.

151.

152.

On the basis of following characters, identify ‘A’ and ‘B’ in a
human.

A. Pliable matrix due to chondroitin salts

B. Hard matrix due to calcium salts

Select the correct option.

1) A-Cartilage present at the joint between 8th and 7th rib,
B-Sternum

(2) A-Fibula, B-Sternum
(3) A-Hyaline cartilage, B-Fibrous cartilage
(4) A-Fibula, B-Pubic symphysis

Unstriated, unbranched muscle fibres are presentin
(1) Smooth muscles
(2) Cardiac muscles
(3) Skeletal muscles

(4) Voluntary muscles

Match column | with column Il and select the correct
option:

Column | Column i
(a) Ketonuria (i) Rapid spasm in muscles

Insoluble mass of crystallised salts

(b) Tetany () ¢,/ med within the kidney

(c) Renall (iii) Accumulation of urea in blood
calculi
(d) Uremia  (iv) Presence of ketone bodies in urine

(1) a(ii), biii), (i), d(iv)
(2) a(i), bii, c(iii), d(iv)
(3) a(iii), bii), c(iv), d(i)
() a(iv), b(i), c(ii), d(iii)

Select a common character found in both red muscle fibres
and white muscle fibres.

(1) Number of mitochondria
(2) Amount of sarcoplasmic reticulum
(3) Amount of myoglobin

(4) Presence of contractile proteins myosin and actin

149.

150.

151.

152.

frfafyd faewamel & smaR W AFa | ‘A’ 3R 'B' &I yganfu|
A. DS ATuN & HRUT TAH=LNeT STt

B. HIRITH AUl & HRUT B3R e

et fdeped 1 T BT

A- 8 3R 7 gt & 9 Y 98 W) Sl Uiy, B -
Ay

(2) A -forgatT, B - RIREY
(3) A-TaTT JUTREY, B-RYIER IUTRE

@)

(4) A-ThgeTT, B- fdes Hetd

SRR, SreTTReT et i P e 21 22

(1) foreft oferat
(2) T3 R
(3) FTd URRI
(4) Vfetsa Ut
DT | BT PDierd || AT P & fJvey o1 7o HifSiv]
Pl | P Il
(a) BIERAT (1) URR A diter ¥
AT gD Y & dTel fepreferd arauli i
® ety O g e
AT . .
© (iii) < 5 IR T T
(d) IR (iv) T 5 HICH Fr i Jufeafy

(1) agii), biii), c(i), d(iv)

(2) a(i), bii), c(iii), d(iv)

(3) a(iii), bii), c(iv), d(i)

(4) a(iv), b(i), c(ii), d(iii)

afTer Ueft dgatt iR eaq Ueft dgett aFf & Ta I Sifrerar @
T DI

(1) HTSCIDIFgT bl T

(2) efieea SHfetet &6t AT

(3) ARG &6 AT

(4) Sgaefier IS wrRNfE iR ufge & Sufefr
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153.

154.

155.

156.

157.

Which of the following statements is correct regarding
vertebral column?

Itlies in the mid-dorsal region of the neck and trunk and
(1) is made up of 26 serially arranged units called
vertebrae.

The first vertebra is called axis and the second is called
atlas.

@)

(3) All vertebrae are connected with ribs.

(4) Number of cervical vertebrae is seven in all mammals.

Complete the analogy w.rt excretory organs present in
organisms and select the correct option.

Malpighian tubules : Periplaneta : : Flame cells :

(1) Pheretima

(2) Prawns

(3) Amphioxus
(4) Macropus

Select the incorrect match among the following w.r.t the
kidney of a healthy adult human.

(1) Length —10-12cm
(2) Width —5-7cm
(3) Thickness —2-3cm

Between the levels of last thoracic and first

(4) Position — lumbar vertebrae

Which of the following is absent in dialysing fluid used for
hemodialysis in artificial kidney?

(1) Water

(2) Sodiumion
(3) Potassiumion
(4) Urea

All of the following structures are completely presentin the
cortical region of the human kidney, except

(1) Malpighian corpuscle
(2) PCT
(3) bCT

(4) Vasarecta

153.

154.

155.

156.

157.

BV & P HeH H (T H J P AT DT Fal 82

T8 T IR g€ b HEI-gEIT &7 H T Bl 8 3R 26 PG
(1)wﬁwa@asw@2ﬁ®rw%ﬁ%aﬁsmﬁmw%
(2) T2 BT Y 78 AR TR P U el Sl &
(3) Tft e, TaIferal ¥ IS B €
(4) Tt EFETRET = faT BT Bt TR T BNl &
Sfial 5 Iufeer It o & Haf § H1ged 1 T R Fel e
BT T DI

o) afarem: 9Rerer: SareTT Bifdrp:
(1) BreHT
(2) itm

(3) UFSiareT
(4) dwioT

U T I ATa & e & Fef A Frfafad 9 3 Terd A=
&1 T $IYI

(1) @&Ts — 10 — 12 3+

(2) LTS — 5—7 T

(3) AICS — 2 — 3371

(4) TRIRT — Sifce geftar 3iiR e Hiam eeep] & TR & el

HHW gad § SISl & folg ST by T arel 3raet 5@
F fepferad 5 9 a1 Jrgufeerd arar 82

Q) 5
(2) TS 3R
(3) UICRRTT 3R
(4) I

ferereh HfifReh et el SemTT Hivd gare o degpe 1 &1 A
quf U & IJufEd Bl 82

(1) Herdft s fore

(2) PCT

(3) DCT

(4) ARG
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158.

159.

160.

161.

162.

In human kidney, the proximal convoluted tubule is lined
by

(1) Simple squamous epithelium

(2) Simple columnar epithelium

(3) Simple cuboidal brush border epithelium

(4) Simple columnar brush border epithelium

How many of the functions mentioned in the box below
is/are associated with the limbic system of humans?

Olfaction, Autonomic Motivation,

Pleasure, Fear

responses,

Select the correct option.
(1) One
(2) Two
(3) Five
(4) Four

In humans, the inner part of cerebral hemisphere has
opaque white appearance. It is mainly due to the presence
of

(1) Unmyelinated nerve fibres
(2) Myelinated nerve fibres
(3) Only cell bodies of the nerve fibres

(4) Only dendrites of the nerve fibres

Neurons are excitable cells because

(1) They contain multiple dendrites

(2) Their membranes are always in a hyperpolarised state
(3) Their membranes are in a polarised state

(4) They have myelin sheath that can conduct impulses

During depolarisation, the axonal membrane becomes
more permeable for

1) k*
(2) Na*t
3 cr-

4) ca*?

158.

159.

160.

161.

162.

A9 gadh |, FHI0we] Fafeld Aot frad GRT STRARd it 82
(1) TR ATeeh! JuDel
(2) R FIHTDR U

(3) ¥R BB 52T SIS Iuehell

(4) TR TIHTHR 513 AR e
g v dfew 7 Sfarfed fhan o 99=i & s 7 9
Tefed 882
10T, TR SRS, SIRTOR, geft, 7
e fdehed BT T DI |

1) @
@
(3) urd

(4) @R

At H, JHRTSS Mt a7 AT T sraResff ead 31 & fawaTs
ST 21 I8 G Y 3 e ST 3 T B 82

(1) B T Tgal

(2) BT GBPT g3t

(3) T gl & e DT BT
(4) TReT TG P Pae gATEdT

=i, STl PRI A & s

(1) 379 @3 gTET BT &

(2) 7! frferat gnem arfcrggfad arawen 9 it &

(3) 3 ferferat gfaa araven F et €

(4) TH HTSIIT SATERUT BNl & ST SAT BT FelleT] BTl &

farggaur o SR df¥eafta et e forg sifde a2 aiweft 272
@) k*

(2) Na*

@ cr

(4) ca*?
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163.

164.

165.

166.

In humans, a cup-shaped bone called patella covers the
knee

(1) Dorsally
(2) Ventrally
(3) Laterally

(4) Dorso-ventrally

Body temperature is regulated by which part of the human
brain?

(1) Hypothalamus
(2) Medulla oblongata
(3) Pons

(4) Association area

Select the incorrect match w.rt. type of joints and their
location.

(1) Pivotjoint
Ball and socket
@ joint

Between atlas and axis
Hip joint

Between carpal and metacarpal of
thumb

Between radius and carpals

(3) Saddle joint
(4) Gliding joint

1@
2 @)
OXC)
4) (4

All of the following are examples of flagellar movement,
except

(1) Swimming of human spermatozoa

Maintenance of water current in the water canal system
of sponges

(2
Movement of food

3) through
Paramoecium

cytopharynx in

(4) Locomotion of Euglena

163.

164.

165.

166.

T A GCHT ATD BU F TBR DY 37 ge DI gohell 8
(1) ERwTH

(2) FTRT /A ™

(3) MEHIH

(4) PBTER FU Y

9RR & Y BT AT ARrsh & g 9T gRT FrRaif3d far smam
82

(1) ST

(2) g AT

(3) 9

(4) T &

eIt & HpR 1R DB T & e H Terd e &7 9 B
(1) gow S
(2) B @idge! HfE #Nfor |fe

(3) deat EfF SIS & et 3R AcTahrie & St
(4) Foredt EfEr feue iR arde & i

TeaT T 3181 &b &1

1) @)

) @)

(3) )

4 @)

ffea & 9 feae iR sFg oft, damfly oo &
IR 82

(1) TG THCISISAT &1 =AT

(2) T & ST AT T H A TRT DT FATY G

(3) WA H PIRIBRR & HTeTH J 9IS T Faer
(4) FAHT 5 T
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167. The vertebral column protects the A

the _ B .
Choose the option that correctly fills the blanks A and B

(1) A —Head, B — Spinal cord
(2) A — Spinal cord, B — Head
(3) A —Heart, B — Head
(4) A —Lungs, B — Head

and supports

168. Match column land Il w.r.t disorders and their description.

Column| Columnli

Auto-immune disorder affecting

a. Gout 0] ; -
neuromuscular junction

Progressive degeneration of
b. Osteoporosis (ii) skeletal muscles mostly due to
genetic disorders

Age-related disorder

C. Muscular (iii) characterised by decreased
dystrophy
bone mass
. Inflammation of joints due to
Myasthenia . . . .
d. ; (iv) accumulation of uric acid
gravis

crystals
Choose the correct option.

(1) a(i), bii), c(iii), d(iv)

(2) a(ii), b(iii), c(iv), d(i)

(3) a(iv), b(iii), c(ii), d(i)

(4) a(iii), b(iv), c(i), d(ii)

169. In humans, a comparison of the volume of the glomerular
filtrate formed per day with that of the urine released per
day suggest that approximately X % of the filtrate is

reabsorbed by the renal tubules. Here 'X'is
(1) 99
(2) 39
(3) 19
(4) 59

167. pdwamdes A HIEnaari el B @ YR S
gl
N et 1 787 HRY I Reh w21 A Jor B Y gfef wet &
P 2
(1) A - R, B - 7%%q
(2) A -5, B — R

(3)A-Td,B-RR

(4) A-37F9, B - RR
168. IpRI 31k S qu= & T | Bierd | 1R 1l BT A= HIfSTl

Pl | ol
_ el | Pl g P arer
& ® Tg-yfeRel fapR

Jrfaierd: STaferd fawRI & HROT

b. FRRIRRAT (i) B aTel epTel URIAT BT IIehiAa

SRR

ERie) . ATRMR o T Srfrerarfor e arer
C.Qi (i) 3@@-3 -

T IR 3T7eT BHUIT & ST B P HRT B

BY RS W) et <ifadi 1 e

el ey 1 = HifSiv|

(1) a (i), b (i), c (iii), d (iv)
() a (i), b (i), c (iv), d (i)
(3) a (iv), b (iii), c (ii), d (i)
(4) a (i), b (iv), ¢ (i), d (ii)

169. 7rg § yfty o7 fAfifq Tedla i & Smads &t gt Ul A
ST 73 & WY a3 W A Ul Joal & b FRIg BT e
X % gRp Alcieprall GRT GARIEGENNG R fefar ST &1 F81 X

g

(1) 99
() 39
(3) 19
(@) 59
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170.

171.

172.

173.

174.

The total number of facial bones in an adult man is equal
to the total number of

(1) True ribs
(2) Floating ribs
(3) False ribs

(4) Cervical vertebrae

Read the statements given below and select the correct
option.

Statement I: In most of the invertebrates, excretory
structures are simple tubular forms.

Statement II: In humans, blood from the glomerulus is
carried away by an efferent arteriole.

(1) Both statements | and Il are correct
(2) Only statement | is correct
(3) Only statement Il is correct

(4) Both statements | and Il are incorrect

Which segment allows passage of small amounts of urea
into the medullary interstitium to keep up the osmolarity of
medullary interstitial fluid?

(1) PCT

(2) Collecting duct
(3) DCT

(4) Henle's loop

A counter current mechanism operates between
and .
Select the correct option to fill in the respective blanks.

(1) PCT, vasa recta
(2) Loop of Henle, DCT
(3) Loop of Henle, vasa recta

(4) Collecting duct, peritubular capillaries

Neural system differs from endocrine system in
providing/maintaining all of the following, except

(1) Point-to-point connection
(2) Rapid coordination
(3) Homeostasis

(4) Quick but short-lived coordination

170.

171.

172.

173.

174.

T %D fth | AT SRR bl FooT T foheaeht et et &
SRIR Bt 82

(1) arKfde gRferal

(2) Tt vt

(3) T Tferii

(4) e HAD

e g TQ et @1 ufey ik FE e 1 9 B

P |: TR IFhABIBAT H, Scqoi] TR TRl A(ABIBR BT
T

B II: AT H, AHGAH H Ieh U AUATE! el GRT of TR
ST &

(1) P | AR 11 SHT HET &

(2) $IA F | eI &

(3) HaA H Il e &

(4) BT | 3R 1| SFT AT &

Feiefl JFReTMT 5a I GRRERUIT 1 1Y W & oIy i |1 T
Hegiell SicRepTeT H AT T A HHAT BT UREE B <l 82

(1) PCT

(2) wHTED dreet

() DCT

(4) &1 T4

e UfderT feanfafer 3R P i PRI el Bl
Hefard Reh eIl WA & T T8 fawed o1 9o HIfST|

(1) PCT, a1 X&eT

(2) &7l 4, DCT

(3) &l U, AT XaeT

(4) TTED arfe, aRATIHIPR BTl

et T foveres Sfales el et 1 M F/amTe @ |
3FT: A T 3 et Bl 87

(1) R =R g wmaar

(2) it =

(3) FHfRERfey

(4) e <rfh 31ed 37afe 1 T

43



Final Test Series(P1)-2024-25 Test-04B

175. In humans, a structure ‘X’ is located at the basal part of the
diencephalon. ‘X’ is involved in all of the following
functions, except

(1) Hormone secretion

Regulation of sexual behaviour along with limbic
system

&)

(3) Controlling the urge for eating and drinking

Regulation of blood osmolarity by stimulating the
release of ADH via adenohypophysis

4)

176. Observe the following diagram of a human skull and
choose the correct option w.r.t. the labelled parts.

(1) 'A'is a paired cranial bone
(2) ‘B’ is an unpaired facial bone
(3) Like mandible, C is also an unpaired facial bone

Like the frontal bone, ‘A’ is also an unpaired cranial
bone

4

177. Read the statements given below and select the correct
option.
Statement I: A motor neuron along with the muscle fibres
connected to it constitute a motor end-plate.
Statement II: The junction between a motor neuron and
the sarcolemma of the muscle fibre is called the motor
unit.

(1) Both statements | and Il are correct
(2) Only statement | is correct
(3) Only statement Il is correct

(4) Both statements | and Il are incorrect

175. A3sgi H, Uap TREAT X' ST & SR TR W AT 2Bt 2
X' foren 31fiReh FrerfetRya oft eraf o anferet Bt 82

(1) B & &
(2) foifede o & A1 i fies =aeR & fafem=
(3) @M IR iR &1 geuT & R

TSHIBSUIBIS AT & A1e3™ T ADH & Al &l Sgifid e
Th IRIERUIAT & AT

176. g9 wRIfe & AfARIT aRE a1 saaifehd HINiT iR Tmifhd
YT o Teof o Tet fahed 1 9 Hifaiv|

4

(1) ‘A" U I PuTeiy AR &

(2) 'B' U FG ST A &

(3) "SI BT TRE C ft U v a7t e &

(4) et TR T RE, ‘A" I T G Pueld A &

177. = oy g el &1 ufey ik HEt faerey ot 9o HifSyl
HU I: T IRD X 3R ST s Ueft g Uob IR i @IT Pl
fofor ey €|
BT II: IR =R 7R Ueft I & ArepTer=1 & et 1 |fE b IR
TPTS el I 81

(1) DT 1 3R 11 SHT FE 8
(2) HaT HUT | G &
(3) FIA P I el &
(4) BT 1 3R 1| SFT TeraT &
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Detailed Video Solutions

(*Video will be available to access post 8 p.m. on 21* March, 2025 onwards)
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